UGC NET 2021 Politics

Topic:- 90Politics_A

1) Which one of the following is NOT true about Realism?
sotdl A Dol Aenelarc & forerr 3 318t o1 dl 3 ?

[Question ID = 801][Question Description = S2_qSNz_PG_ITS_Q01]
1. War is the natural condition of world politics/fea st 3 g vw Farenfie Refr 8

[Option ID = 3201]
2. State is the primary actor in international politics/siaRftctr Isrofict 3t 211 bt yrerfdtes offdrest 2t 2

[Option ID = 3202]
3. Military force is the most important tool for implementing state policies/ s &t iifeRIl @I cIP], Bol 3 AT deT IR ] Bl 8

[Option ID = 3203]
4. Interdependence between states is a critically important feature of world politics/rs:ii &t vap R w fonlzar fieq sl 6t v ascayyf f[Afsrear &

[Option ID = 3204]
Correct Answer :-
e War is the natural condition of world politics/firea 2wl 3 g v Famsnfaa Reifer 8

[Option ID = 3201]

2) What does Raison d'état mean?
IS¢ T = 3ref & ?

[Question ID = 802][Question Description = S2_qSNz_PG_ITS_Q02]
1. The state should not be selfish/3rsa @l Fareff ol glon aifde

[Option ID = 3205]
2. The state should act for international peace and security/3s1 @1 sidRItclr onfod vd JRen @ e BrRf won aifde

[Option ID = 3206]
3. Democracies should not fight against each other /el @t smuzt 3 oidf cisen aifde

[Option ID = 3207]
4. The state ought to act reasonably at all times/=e1 82 2w SEFAcR! 3 B Dol Az

[Option ID = 3208]

Correct Answer :-

® The state should not be selfish /s @t Fareff odl Blom anfae
[Option ID = 3205]

3) Who is considered as the architect of The Concert of Europe?
'BAC 3P R D forcdl forgaiferRaa 3 A fp=1 Frem Sirar 8 ?

[Question ID = 803][Question Description = S2_qSNz_PG_ITS_QO03]
1. Klemens Von Matternich/aciiar dict dicform

[Option ID = 3209]
2. Otto Von Bismarck/siel dfor faare

[Option ID = 3210]
3. Giuseppe Mazzini/BRu dfswoft

[Option ID = 3211]
4. Alexandrina Victoria/weidsiifgen i

[Option ID = 3212]

Correct Answer :-

e Klemens Von Matternich/qc@i dfer dicforad
[Option ID = 3209]



4) Who among the following said, "The post-cold war order is really a continuation and extension of the western order
forged during and after World War I1I?

forgaiferRaa 3 2 feptor a1 o 16 "fiRIgitR fara crasen araa 3 fgdia ey @ SR 3R 3D a16 Jofl Uit S9il &l Raze o SRl
3Bl 3IR IADI R en'?

[Question ID = 804][Question Description = S2_qSNz_PG_ITS_Q04]
1. John Ikenberry/sifor sabo1ast

[Option ID = 3213]
2. Stephen M. Walt/3¢ltat wat. aree

[Option ID = 3214]
3. John Mearsheimer/siior frifdlsz

[Option ID = 3215]
4. lan Clark/semet aciras

[Option ID = 3216]
Correct Answer :-
e John lkenberry/sifor saora3t
[Option ID = 3213]

5) Who said, 'think globally, act locally'?

fop2101 a1 e "dffads A, FereiRI U A BRI BA

[Question ID = 805][Question Description = S2_qSNz_PG_ITS_QO05]
1. Anthony Giddens/Geioft Br3sar

[Option ID = 3217]
2. Patrick Geddes/ufew Brgar

[Option ID = 3218]
3. Thomas Friedman/ eiiat wrrsdor

[Option ID = 3219]
4. Thomas Sowell/ eifart Aider

[Option ID = 3220]

Correct Answer :-

e Anthony Giddens/ueidfl Br3ear
[Option ID = 3217]

6) Which one of the following theories considers globalisation as a sham?

Dlol-AT Rigia dedias2or ol gavdrRT Atoidr 3 ?

[Question ID = 806][Question Description = S2_qSNz_PG_ITS_Q06]
1. Realism/zemefarg

[Option ID = 3221]
2. Liberalism/3gRrarg

[Option ID = 3222]
3. Marxism/sraiarg

[Option ID = 3223]
4. Constructivism/Ideirdarg (wgfiefiser)

[Option ID = 3224]
Correct Answer :-
® Realism/=erefarg
[Option ID = 3221]

7) Which of the following was NOT an objective of the Communist Information Bureau (Cominform)?

forgsiferRae 31 31 Blol-AT DRIfoRT soWIHI6l KRR (Bifdrorwisl) 1 3Z9 ol et ?



[Question ID = 807][Question Description = S2_qSNz_PG_ITS_QO07]
1. To complete the sovietization of the Soviet satellite states/nferra forifer Soif (3¢c1) B AMfeRIT e 3 ferT o1 PR g1 BIon

[Option ID = 3225]
2. To promote ideological unity among the Communist Parties/@msgfore mics 3 Agiferd vwoar ol dear dolt

[Option ID = 3226]
3. To combat Titoism/fcarg A crson

[Option ID = 3227]
4. To combat Maoism/amsidarG 3 cisolr

[Option ID = 3228]

Correct Answer :-

® To complete the sovietization of the Soviet satellite states/dfdra forifea Soli (I2c=1) @1 AMferRrd e I fAerr o1 PRI g1 don
[Option ID = 3225]

8) Which western country was the first to relinquish its colonial power in Asia after World War 11?7

fopar uf2gatt Sor ol fdila farag @ arg A uscl GldrRn 3 siueil siiufsrafdre a1 w1 o1 fovar ar ?

[Question ID = 808][Question Description = S2_qSNz_PG_ITS_Q08]
1. France/wix

[Option ID = 3229]
2. Portugal/gdsmer

[Option ID = 3230]
3. United Kingdom/<omses fosersar

[Option ID = 3231]
4. United States of America/3ieh s W@ (Jolses IeTA)

[Option ID = 3232]
Correct Answer :-
® France/wix

[Option ID = 3229]

9) Who said, 'Soft power's efficacy is limited if seen in isolation since principles and norms can be extremely effective if
translated into blood and iron'?

feprel war e fob "Hiwe uraz &I graan Rafda Sl g afe 334 smsAIcierer & S S q@ifes Rigid siiz #Areids il srcia gardl giar 8 afe 3ed ot
3z area 3 carer e e’

[Question ID = 809][Question Description = S2_qSNz_PG_ITS_Q09]
1. Joseph Nye/SiRiw airr

[Option ID = 3233]
2. A.J. P Taylor/uaidl 2

[Option ID = 3234]
3. Shashi Tharoor/9ifsr ers2

[Option ID = 3235]
4. Christopher Twomey/as w2 it

[Option ID = 3236]
Correct Answer :-
e Joseph Nye/SIw oirRr
[Option ID = 3233]

10) Who among the following is the author of the book On Thermonuclear War?

gotdi A fepoaiol 3ilol eRHIIfICRR aR' oI¥I fepara bl aen &I 3 ?

[Question ID = 810][Question Description = S2_qSNz_PG_ITS_Q10]
1. Henry Kissinger/gor3! fpRieerr

[Option ID = 3237]



2. H. Kahn/wa. ®rsar

[Option ID = 3238]
3. R. E. Osgood/3m. 3. 3siREps

[Option ID = 3239]
4. Andre Beaufre/v3 sqm,

[Option ID = 3240]

Correct Answer :-

® Henry Kissinger /3ol fcoRioorz
[Option ID = 3237]

11) Which of the following is a Chinese strategy to use Chinese foreign diplomats for hitting back at any criticism of China or
the Chinese Communist Party, especially through social media platforms?

Soldl A Mol Al az dilofl Fvrefifer 3 Aot YilaT <dioll fargeft dgofifersil @, fadier wu A Aorer faifsam o> Fia g1 dior 2 <isfl wwyfore urdf A
Agfere feo2dt off sirellereln @1 scen ciol @ ferg fepam sirem 3 ?

[Question ID = 811][Question Description = S2_qSNz_PG_ITS_Q11]
1. Palace diplomacy/3msyRiG deoflfer

[Option ID = 3241]
2. Salami slicing tricks/ el xiser @R

[Option ID = 3242]
3. Wolf warrior strategy/qew difRre Jumsfifer

[Option ID = 3243]
4. Soft power/3ifuc uraz

[Option ID = 3244]

Correct Answer :-

e Palace diplomacy/3mcyziG deoiifer
[Option ID = 3241]

12) Which one of the following organisations was criticised by China as "froth on the ocean surface"?

gotdl A [ JHs1601 Dl ol GRI fotocr b ardl siiz 3A "HAg @1 11" ddr ?

[Question ID = 812][Question Description = S2_qSNz_PG_ITS_Q12]
1. ASEAN/snf3rimor

[Option ID = 3245]
2. SAARC/aras

[Option ID = 3246]
3. BIMSTEC/Rwerrws

[Option ID = 3247]
4. QUAD/aars

[Option ID = 3248]
Correct Answer :-
o ASEAN/snf3rrmor
[Option ID = 3245]

13) In which year did China become a member of the World Trade Organisation?

fopa1 ad <iiot fara =muR Fs1601 @1 ASHA Foll ?

[Question ID = 813][Question Description = S2_qSNz_PG_ITS_Q13]
1. 1979

[Option ID = 3249]
2. 2001

[Option ID = 3250]
3. 2007

[Option ID = 3251]
4. 2013



[Option ID = 3252]
Correct Answer :-
e 1979

[Option ID = 3249]

14) Who coined the phrase the '‘Cobweb’ model of world politics?

fara Jrsreiifer 9 'wadq disa’ & Jfaa o1 e & ?

[Question ID = 814][Question Description = S2_qSNz_PG_ITS_Q14]
1. John Burton/sifer a~cort

[Option ID = 3253]
2. Francis Fukuyama/wif3r1 waxme

[Option ID = 3254]
3. Hedley Bull/Zsa gt

[Option ID = 3255]
4. Joseph Nye/SiRie s

[Option ID = 3256]
Correct Answer :-
® John Burton/siiet a=cot

[Option ID = 3253]

15) The Sino-Soviet Pact of 1950 committed both states to which one of the following?

ot Aiferra Aarsiia 1950 @ dad <leil Son 3 o5 sori A v Uz yfeagar 3

[Question ID = 815][Question Description = S2_qSNz_PG_ITS_Q15]
1. Cooperate in terms of defence in the case of attack by Japan or its ally (US)/simuret 2 331 ie=ielt 2 01 GRI SIHAvT Blol U2 JEI JAsANeT

[Option ID = 3257]
2. Conclude any hostile agreement with another power/fpft g2t feRteft oifep & rer Jwrsiiar

[Option ID = 3258]
3. Consult closely on matters of national interest/3rdRI f&dl @ Hel W2 a8l Acd

[Option ID = 3259]
4. Conclude a peace treaty with Japan which would be hostile to the interests of either state/smuret st @ 3ot @ f&dl @ fawg 3, 3ad mer onfor ifer

[Option ID = 3260]
Correct Answer :-
e Cooperate in terms of defence in the case of attack by Japan or its ally (US)/Siuret 11 331 el 3 01 GRI SV Blol U2 RS AT

[Option ID = 3257]

16) Who among the following Constructivist writers said, "the fundamental structures of international politics are social
rather than strictly material"?

soldl A P Taeiar! of aarn &6 "fra sl &t e Hvaen siifere odl afer aenfSie 3"

[Question ID = 816][Question Description = S2_qSNz_PG_ITS_Q16]
1. Alexander Wendt/uciaows? dorse

[Option ID = 3261]
2. Kenneth Waltz/aboter arcar

[Option ID = 3262]
3. Robert Keohane/3fad duaror

[Option ID = 3263]
4. Hedley Bull/3ser get

[Option ID = 3264]

Correct Answer :-

e Alexander Wendt/uciaous? dersc
[Option ID = 3261]

17) The military strategy, which employs political warfare and blends conventional warfare, irregular warfare and



cyberwarfare with other means such as fake news, diplomacy, and foreign electoral intervention, is known as:

3o GHfer Sit ISI6ifere Yg-ofifer @l cipy Wl 3 3iiv G 316/ ALer6T AT BD-oY5l, Deoilfer iR ol gorrdl svagiu ik ursal¥® Ig,
sforafdrea g 3 AR Py D At Bifdfa w2ar 3, Siron s 3 ¢

[Question ID = 817][Question Description = S2_qSNz_PG_ITS_Q17]
1. Chemical warfare/3RIrIforb g ot

[Option ID = 3265]
2. Hybrid warfare/3i®? g wdt

[Option ID = 3266]
3. Low intensity conflicts/o¥el digar arel e

[Option ID = 3267]
4. Nuclear warfare/uwam] g

[Option ID = 3268]
Correct Answer :-
e Chemical warfare/RIrIford g Dot

[Option ID = 3265]

18) The Organisation of American States has acted against the below given members if its government is overthrown by
force

3ell IRPR Bl dgerrd fordR1a fopu Sirol &t gon 3 EREIb! Yredl @1 ool (¢ 3ilerssign i smif¥dme ¥e¢ca) o forafeRaa 3 A srudl et
AGHI A D favg DrRars &I &

[Question ID = 818][Question Description = S2_qSNz_PG_ITS_Q18]
1. Haiti (1991-94)/3c0t (1991-94)

[Option ID = 3269]
2. Argentina (1998-99)/sctvdter (1998-99)

[Option ID = 3270]
3. Mexico (2002-2004) /3t (2002 - 2004)

[Option ID = 3271]
4. Brazil (1992)/qrsfter (1992)

[Option ID = 3272]
Correct Answer :-
o Haiti (1991-94)/3d (1991-94)

[Option ID = 3269]

19) China has included some states and Union Territories of India in its "Five Finger” plan. Which one of the following is
correct?

<iiol of HRA D BB A 3HI? Dog-ANRAA Y9I 3Ual "wIsd-fbeR” Alslol 3 Afdaferd foan 3 fororfciRaa 3 wiot 31 & ?

[Question ID = 819][Question Description = S2_qSNz_PG_ITS_Q19]
1. Assam, Uttarakhand, Jammu and Kashmir/arme1,30Rravs, s sl aaflz

[Option ID = 3273]
2. Arunachal Pradesh, Ladakh and Sikkim/smsurraet yger, cigra siiz Rifdasa

[Option ID = 3274]
3. Assam, West Bengal, Manipur/3ret, uf2m1 soiet, g

[Option ID = 3275]
4. Sikkim, Lakshadweep, Meghalaya/Riferaa, cieigiu, dercrr

[Option ID = 3276]
Correct Answer :-
e Assam, Uttarakhand, Jammu and Kashmir/srw1,3aRravs, s@dy sl oot

[Option ID = 3273]

20) The Malabar naval exercise in the Indian Ocean started in the year

fBoc HBRIPR # ACIER SilRY6I AR {1 arl 27 g g ?



[Question ID = 820][Question Description = S2_qSNz_PG_ITS_Q20]
1. 1990

[Option ID = 3277]
2. 1991

[Option ID = 3278]
3. 1992

[Option ID = 3279]
4. 1995

[Option ID = 3280]
Correct Answer :-
e 1990

[Option ID = 3277]

21) Which Indian Prime Minister named the old Prime Minister's Secretariat as the Prime Minister's Office?

fopa1 eI yeroRic]l of gRiol Yenoric Afarcrt o1 sliav1 Yenetdidl orifcrr e ?
[Question ID = 821][Question Description = S2_qSNz_PG_ITS_Q21]
1. Indira Gandhi/sfear siieft

[Option ID = 3281]
2. Morarji Desai/dierstt 3o

[Option ID = 3282]
3. Charan Singh/@Ru Ris

[Option ID = 3283]
4. Rajiv Gandhi/zmsta aifeft

[Option ID = 3284]
Correct Answer :-
e Indira Gandhi/sfear aiieft
[Option ID = 3281]

22) Which country in Asia was the first to start a nuclear programme?
ofdrn & onfdrdblar BRiaypT 3R B0l arel eI Ueg Blol T ?

[Question ID = 822][Question Description = S2_qSNz_PG_ITS_Q22]

1. China/da

[Option ID = 3285]
2. Japan/smurer

[Option ID = 3286]
3. India/ema

[Option ID = 3287]
4. South Korea/sféor amifyar

[Option ID = 3288]
Correct Answer :-
e China/dlar
[Option ID = 3285]

23) India is a founding member of which one of the following organisations?
$ol FoToall A HRA fPADT AFATUD AGHA 3 ?

[Question ID = 823][Question Description = S2_qSNz_PG_ITS_Q23]

1. ASEAN/3nRriet

[Option ID = 3289]
2. SCO/uar it at

[Option ID = 3290]
3. IMF/sicefscier ggr ot (IMF)

[Option ID = 3291]
4. UNO/3igep e 3|

[Option ID = 3292]
Correct Answer :-
o ASEAN/snf3wmmor
[Option ID = 3289]



24) How many countries signed the Regional Comprehensive Economic Partnership on 15t November 2020?

15 srasaz 2020 o1 fpdor Sonf of g wmu snféfep ARIGRET U= sraigk fopu

[Question ID = 824][Question Description = S2_qSNz_PG_ITS_Q24]

1. Four/ar

[Option ID = 3293]
2. Ten/gx

[Option ID = 3294]
3. Fifteen/usgs

[Option ID = 3295]
4. Sixteen/3cis

[Option ID = 3296]
Correct Answer :-
e Four/dar

[Option ID = 3293]

25) The first ministerial meeting of the Quadrilateral Security Dialogue took place in which of the following cities?

aqgeasii Jen ardaf &I usell dcfi-aai Joa foerfeiRaa 4 2 v o A 58 ?

[Question ID = 825][Question Description = S2_qSNz_PG_ITS_Q25]
1. Canberra/de1Rt

[Option ID = 3297]
2. New York/o=pif®

[Option ID = 3298]
3. New Delhi/a-fecht

[Option ID = 3299]
4. Tokyo/cra=i

[Option ID = 3300]
Correct Answer :-
e Canberra/@orr

[Option ID = 3297]

26) Who among the following floated the idea of Indo-Pacific during his address to the Indian Parliament in 2007?

forgaiferRaa 3 31 feperor 2007 3 3ol HRARI IS D AFEILol D Silel HRA-YQIid DI AR yqa e ?

[Question ID = 826][Question Description = S2_qSNz_PG_ITS_Q26]
1. Japan's Prime Minister/Smurefl gemer sicft

[Option ID = 3301]
2. President of the United States of America/smfsr 2mcufer

[Option ID = 3302]
3. Australia's Prime Minister/siisgferns gemer sict

[Option ID = 3303]
4. New Zealand's Prime Minister/oegsficls @ yemomict

[Option ID = 3304]

Correct Answer :-

® Japan's Prime Minister /Sl yermor aicft
[Option ID = 3301]

27) China's 'One Country, Two Systems’ formula is applied to

it 6 "uep 91, G AT Y Y Al 3 :



[Question ID = 827][Question Description = S2_qSNz_PG_ITS_Q27]
1. Taiwan/drsarer a

[Option ID = 3305]
2. Macau/#ms 3

[Option ID = 3306]
3. Tibet/fereae 3

[Option ID = 3307]
4. Xinjiang/foeifSriter 3t

[Option ID = 3308]
Correct Answer :-
e Taiwan/drsare 3

[Option ID = 3305]

28) When did East Timor become an independent country?

gd R ®d Fdcid A, Joll

[Question ID = 828][Question Description = S2_qSNz_PG_ITS_Q28]
1. May 20, 2002/20 €, 2002

[Option ID = 3309]
2. December 6, 1991/6 f&wsz, 1991

[Option ID = 3310]
3. April 10, 1974/10 e, 1974

[Option ID = 3311]
4. July 10, 1976/10 g, 1976

[Option ID = 3312]
Correct Answer :-
e May 20, 2002/20 &, 2002
[Option ID = 3309]

29) Which one of the following countries is NOT a member of the Cooperation Council for the Arab States of the Gulf?

foraotferR3aa A ol o1 WISY 91 B 3R sl @ 1T gal Azt uf¥eg &1 AT oidk 3 ©

[Question ID = 829][Question Description = S2_qSNz_PG_ITS_Q29]
1. Bahrain/gg3a

[Option ID = 3313]
2. Iran/s3et

[Option ID = 3314]
3. Saudi Arabia/a35d! srea

[Option ID = 3315]
4. Qatar/@ma=z

[Option ID = 3316]
Correct Answer :-
® Bahrain/ss¥ar
[Option ID = 3313]

30) When was Georgia, Ukraine, Azerbaijan, and Moldova (GUAM) established?

SiifSten, I®5) seRAsIIol 3R Arccrar (St I U wa) Feruelr od ol SR off ?

[Question ID = 830][Question Description = S2_qSNz_PG_ITS_Q30]
1. 2006

[Option ID = 3317]
2. 1991

[Option ID = 3318]
3. 2001



[Option ID = 3319]
4. 2008

[Option ID = 3320]
Correct Answer :-
e 2006

[Option ID = 3317]

31) The Geneva Protocol of 1925, prohibits the use of which one of the following?

1925 o1 Storar Yickdid sotdl A bl gferdffia w2ar 3 :

[Question ID = 831][Question Description = S2_qSNz_PG_ITS_Q31]
1. Asphyxiating poisonous or other gases in war/3g 3 Sasielt st o1 yeiler

[Option ID = 3321]
2. Chemical weapons/3RIRIfID SRRIRI BT YRS

[Option ID = 3322]
3. Bacteria and dangerous viruses/xiaelic dfefcar od dRRA T GRIeT

[Option ID = 3323]
4. Radiological weapons/3muifded sfRIRI T YRileT

[Option ID = 3324]

Correct Answer :-

® Asphyxiating poisonous or other gases in war/¥g 3 Sig3lcft 311 @1 yiler
[Option ID = 3321]

32) Who among the following is recently elected as the President of Kyrgyzstan?
gotdl A Dlot 33fl are1 3 fpfierrare: & rsgufer & »u 3 gol sRI 3 ?

[Question ID = 832][Question Description = S2_qSNz_PG_ITS_Q32]
1. Sooranbai Jeenbekov/IRIeHrI Sold@a

[Option ID = 3325]
2. Adakhan Madumarov/sGrere AgARI

[Option ID = 3326]
3. Sadyr Zhaparov/3dR smuia

[Option ID = 3327]
4. Shovkat Mirziyeyov/olioa R¥siRRIa

[Option ID = 3328]

Correct Answer :-

e Sooranbai Jeenbekov/RIoERI Rordra
[Option ID = 3325]

33) Abraham Accords Peace Agreement was signed between which of the following West Asian countries?

sordi 31 Roor uRaa R & Jo & dia ‘sigea vats e wefidic’ seamefa & ?

[Question ID = 833][Question Description = S2_qSNz_PG_ITS_Q33]
1. UAE and Qatar /iy 3Rd 3@ 3 o

[Option ID = 3329]
2. Iran and Iraq/$3mel 3R RAD

[Option ID = 3330]
3. Israel and UAE/sjpset 3l IRp 3Rd 3w

[Option ID = 3331]
4. Israel and Palestine/sset 3R fferdlor

[Option ID = 3332]

Correct Answer :-

® UAE and Qatar/3Rp 3rd 3w ik &
[Option ID = 3329]

34) Which country hosts the largest US military base in West Asia and staging ground for airstrikes against Islamic State in



Iraq and Syria (ISIS)

uf2pfl ofdrn @ fopar Sor 3 3Afy®T BT AGA T3T Aford 3UFST 3 SIel A a6 D I ol Rif¥en wos S (30 vA 3 ©vaa) uR sard saet
DA B ?

[Question ID = 834][Question Description = S2_qSNz_PG_ITS_Q34]

1. Qatar/@a

[Option ID = 3333]
2. Egypt/firy

[Option ID = 3334]
3. Kuwait/@gda

[Option ID = 3335]
4. Saudi Arabia/33c}t sra

[Option ID = 3336]
Correct Answer :-
e Qatar/@mm

[Option ID = 3333]

35) Which one of the following Islamist groups killed hundreds of people after bombing of the UN headquarters in Abuja,
Nigeria 2011

forrarferRaa 3 A1 vt secrmedl J1gge of adt 2011 3 IYep s, AT FIRCRI U= GHAR! D a6 MGS, oISk i @ Al sl &I ae b off ?

[Question ID = 835][Question Description = S2_qSNz_PG_ITS_Q35]
1. Boko Haram/dlo! g2t

[Option ID = 3337]
2. Al Qaeda/srciorIer

[Option ID = 3338]
3. Hezbollah/f&sigeen

[Option ID = 3339]
4. Danish Rebel/3foror f¥der

[Option ID = 3340]
Correct Answer :-
® Boko Haram/d®t a2t

[Option ID = 3337]

36) The "Road to Damascus” refers to which of the following French Presidents?
forgaiferRaa wizfiRr scufer 3 A Blol "AUs g SITPA A Fo & ?

[Question ID = 836][Question Description = S2_qSNz_PG_ITS_Q36]
1. Charles de Gaulle/aref st. sifer

[Option ID = 3341]
2. Francois Mitterand/wicisa Bt

[Option ID = 3342]
3. Jacques Chirac/3® Briw

[Option ID = 3343]
4. Immanuel Macron/ssgeet didfoer

[Option ID = 3344]

Correct Answer :-

e Charles de Gaulle/arc=f 1. sifct
[Option ID = 3341]

37) Who among the following world leaders had spoken of a culturally and economically unified Europe as "common home"?
forgsiferRae 31 3 Rpa1 fea-Fadi oldr of ARpfere siiz snfefe wu A vblapd JRa @l "idret Sl &l s 3t off ?

[Question ID = 837][Question Description = S2_qSNz_PG_ITS_Q37]
1. Jean Monnet/zi ot

[Option ID = 3345]
2. Ronald Reagan/3eiics otet

[Option ID = 3346]
3. Mikhail Gorbachev/firaréc siafda

[Option ID = 3347]



4. Helmut Kohl/acdc dlaer
[Option ID = 3348]

Correct Answer :-

e Jean Monnet/zii ot
[Option ID = 3345]

38) The term "Yanqui imperialism" refers to:

RATeIcbl AHISACIG BT e 3 :

[Question ID = 838][Question Description = S2_qSNz_PG_ITS_Q38]
1. Japanese imperialism/Giurefl Jmmjrserars 3t

[Option ID = 3349]
2. British imperialism/f§feor Jmpserars 3

[Option ID = 3350]
3. US domination and interference in Latin America/difesr 3m@if¥epr 3 @iyt adza 3iiz sia:ema 3t

[Option ID = 3351]
4. Tsarist rule/snf¥sc omior X

[Option ID = 3352]

Correct Answer :-

e Japanese imperialism/siurft Jmerseidig 3
[Option ID = 3349]

39) Who of the following Latin American leaders used to call himself "the Last Samurai"?

fep1 cifeot Syl oldr of IRl @1 ' g TR AHAS' el AT ?

[Question ID = 839][Question Description = S2_qSNz_PG_ITS_Q39]
1. Hugo Chavez/gpil ondst

[Option ID = 3353]
2. Alberto Fujimori/srcecl wfomeist

[Option ID = 3354]
3. General Augusto Pinochet/SiorRet 3@rdl ursallor

[Option ID = 3355]
4. Juan Peron/g3irel Wiet

[Option ID = 3356]
Correct Answer :-
e Hugo Chavez/gpll omdst
[Option ID = 3353]

40) The American catch-all term "Homeland Security"” to protect people on American territory, does not include which one
of the following?

AT Siferp1R 3 3 | cliell @ eIvT 3 AR¥®T A yafera orss "slarcis Rragfydl” 3 forgotifda onfirer o18t 3 :

[Question ID = 840][Question Description = S2_qSNz_PG_ITS_Q40]
1. Terrorism/siddarg

[Option ID = 3357]
2. Natural disasters/qrfer smusrs

[Option ID = 3358]
3. Industrial disasters/sienf3re geeoms

[Option ID = 3359]
4. Homeland defense/gwicts 38

[Option ID = 3360]
Correct Answer :-
® Terrorism/3idddig

[Option ID = 3357]

41) Which of the following are correct about the ninth Secretary-General of United Nations?



A. A former Portuguese politician and diplomat
B. Former UN High Commissioner for Refugees
C. First-ever female Secretary-General of United Nations

Choose the correct answer from the options given below:

AYTD A AT D olid ASRIRIG bl agarcAD e forgsiifod 3 :
A. v yd yefomedl arstofiferst vd rseilRie

B. Jiyep e da ol @ yd SR

C. g g A" DI ga afden FAsrRIfa

ofi o s1u fwedl & A AT SWITP IR DI RI6l HIRIT :

[Question ID = 841][Question Description = S2_qSNz_PG_ITS_Q41]
1. Aonly/@ae A

[Option ID = 3361]
2. Bonly/@ac B

[Option ID = 3362]
3. Conly/aae C

[Option ID = 3363]
4. A, B and C only/@aa A, B aiiz C

[Option ID = 3364]
Correct Answer :-
® A only/adac A
[Option ID = 3361]

42) The following intergovernmental organisations address the major problems of the international system

A. In the international system, the intergovernmental organisation contributes to habits of cooperation; states become
socialised to regular interactions

B. International Atomic Energy Agency's nuclear monitoring program establishes a regularised process of information
gathering, analysis and surveillance

C. United Nations, World Bank are such intergovernmental organizations

Choose the correct answer from the options given below:

forgatifepa srod: IRBI Horo01, FARICERI-doq Bl T AITAL3HL b forarvr ol 3 :

A. iRIsERI-doq #, 316d: IRPRI HSIG61 ABABT DI MGl 3 ABAPT DA 8, A ORIFIA cRile [T 3 AABIDUT Bl &

B. siaeicdia uanvy Seif wsizfl o1 U] Rl Rl e vadia:vl, faeauvr iz iRl & forafia yfign o renftra ol
C. g I A", [a b 3 PR D 3od: IRPRI A6 &

il f¢u are fawedl 3 A A8l IR ol ©

[Question ID = 842][Question Description = S2_qSNz_PG_ITS_Q42]

1. A, B and C only/dae A, B siiz C

[Option ID = 3365]
2. Aand B only/d@act A sii B

[Option ID = 3366]
3. Conly/@ae C

[Option ID = 3367]
4. Band C only/addct B sfiiz C

[Option ID = 3368]

Correct Answer :-
e A, Band Conly/dac A, B siiz C

[Option ID = 3365]

43) As per the international paradigm approach,
A. States are the essential building blocks of world politics
B. World affairs have been transformed in recent decades by the growth of global interconnectedness and interdependence

C. The world no longer operates as a disaggregated collection of states, or units, but rather as an integrated whole, as ‘one



world'
D. World affairs boil down, essentially, to the relations between states

Choose the correct answer from the options given below:

JRRISERT Yferarrol eficmlvt o IR,

A. 5w fra Isehifer @ smaeas fowrivr ws &

B. aIct @ gornl 3 dffad siarider sz sroriioeRIAar @ fardrRT A fara Fmercil 3 agema 3mn 3

C. gfora 3@ Irsal, AT ISl @ 3ICT-3ICIPT A D FU A ofdl, afed v udblad, "uwb gform’ @ wu i oI Bxdl 3
D. fora @ aAwIct siforart U A sl D & Adell o1 AR forprad &

ofia 3w a1 fawcal 3 A 78 a2 goi :

[Question ID = 843][Question Description = S2_qSNz_PG_ITS_Q43]
1. Bonly/aae B

[Option ID = 3369]
2. Conly/aae C

[Option ID = 3370]
3. Cand D only/daa C sfiz D

[Option ID = 3371]
4. Aand D only/dac A sk D

[Option ID = 3372]

Correct Answer :-
e Bonly/dac B

[Option ID = 3369]

44) Which of the following is true about US President Barrack Obama'’s visit to India in January 2015?

A. Obama chose India as the first foreign country to visit after his second term as President of the USA began
B. Obama was the first US President to be the Chief Guest at India's annual Republic Day Parade

C. Obama wanted to send a strong signal to China and Pakistan

D. Obama signed the Indo-US nuclear deal with Indian leadership

Choose the correct answer from the options given below:

3rAf¥l recufer a2 saren @ ad 2015 3 sira SR @ ider 3 fowafeRan 3f A aur w81 3 ?

A. 3N oY IYEh IS 3ANDT B recufer B WU A sruct fd wrierar & smRu 3 P sier ardl genr fagoft SR @ e sira @1 arIot s
B. sftare sira @ aifties surdq fSat uds 3 ger siferf aotrel arel yet spEridh! ascufer

C. 3itaren dia siiz urfdbadrer oI U g6 AD Soll d1aar &

D. 3iiare of $IRCARI olea @ AT MRA IJATEBT U] JHIA U2 s3dIgR fopam

il 3w a1 fyaseul 9 A W& 3= goi ¢

[Question ID = 844][Question Description = S2_qSNz_PG_ITS_Q44]
1. Aonly/dae A

[Option ID = 3373]
2. Bonly/@act B

[Option ID = 3374]
3. Conly/dae C

[Option ID = 3375]
4. D only/aac D

[Option ID = 3376]
Correct Answer :-
® Aonly/dac A

[Option ID = 3373]

45) The military balance in the India-China border is changing because of
A. India-Japan-USA relationship

B. China's rapid military infrastructure modernization



C. Pakistan-China-Turkey relationship
D. India's aggressive foreign policy initiatives

Choose the correct answer from the options given below:

et 311z <fior &t HMeruz I Fderel D TG ol DI BRI 3 &
A. HIA-SITUIG-YQAT JHder

B. o1 &bl Iio=a Fzerenn @1 caf¥a smeffordblmzur

C. urftpzaret-dier-qast Ader

D. smra &t s fager ofifer uset

ofid fou o1 el 3 A A8t STz gt :

[Question ID = 845][Question Description = S2_qSNz_PG_ITS_Q45]
1. B only/dact B

[Option ID = 3377]
2. Aand C only/daer A siiz C

[Option ID = 3378]
3. Aonly/adae A

[Option ID = 3379]
4. D only/@ae D

[Option ID = 3380]
Correct Answer :-
e B only/dact B
[Option ID = 3377]

46) The changing US-China military balance has led to the emergence of a new security framework among countries. Which
of the following is correct in this context?

A. India-Japan-Australia
B. India-Israel-Iran

C. India-Australia-France
D. India-Japan-Vietnam

E.Taiwan-India-Indonesia

Choose the correct answer from the options given below:

oo JuA-dlel 3o Aderel A SoIl @ dia Ud off JSI el DT I5d 31T 3 ? 3 ol 3 oarferRaa 3 21 ®lor A8 3 ?
A. s1Rd-Simurer- itz ferRm

B. sIRA-sSRISCI-32001

C. sma-siteferm-wia

D. siRa-simurer- feridoist

E. amsarei-sara-$Sofdrn

ofid fou o1 el 3 A A8t STz gt ¢

[Question ID = 846][Question Description = S2_qSNz_PG_ITS_Q46]
1. B only/dact B

[Option ID = 3381]
2. Eonly/d@aet E

[Option ID = 3382]
3. Aand Eonly/@act A iz E

[Option ID = 3383]
4. A, Cand D only/@qe A, C ik D

[Option ID = 3384]
Correct Answer :-
e B only/dact B
[Option ID = 3381]



47) For Robert Keohane and Joseph Nye, in ‘complex interdependence’

A. States are drawn into cooperation and integration by forces such as closer trading and other economic relationships
B. Levels of interdependence vary greatly across the globe

C. Interdependence is by no means always associated with trends towards peace, cooperation and integration

D. Interdependence may be asymmetrical

Choose the correct answer from the options given below:

Jfaé qRNf3el 3R SIRIG ol & 3elAR ‘Sifee siafshizar # forfda 3 :

A. ool RIaR eI e i JHder S acill GRT AEY DI AGAOT 3R Tdblmur a5 g i ditloln
B. fara sr 3 siafelsizar @ Rl 3 orbl Hicorar &l 8

C. siafofsizar arden orifer, a1 3R udhblasut bt fSom 3 gorkil Sior archt ygfer 2 ddfera 3

D . siafofsfzar forwar a1 oot

oA Ry s1e el # A & a2 o ¢

[Question ID = 847][Question Description = S2_qSNz_PG_ITS_Q47]

1. Aonly/dae A

[Option ID = 3385]
2. Bonly/@act B

[Option ID = 3386]
3. Conly/dae C

[Option ID = 3387]
4. D only/a>act D

[Option ID = 3388]
Correct Answer :-
® Aonly/dact A
[Option ID = 3385]

48) According to the 'billiard ball model’ of International Relations
A. State borders have become increasingly porous
B. Relations among states have come to be characterized by growing interdependence and interconnectedness

C. States, like billiard balls, are impermeable and self-contained units, which influence each other through external
pressure

D. Patterns of conflict and cooperation within the international system are largely determined by the distribution of power
among states

Choose the correct answer from the options given below:

sicrfclr Fider & "RiftrrE dict disa” & AR -

A. et Y e srrRArofl A Ner ar o B

B. gt @ i Adiell b faoraar ot gerdt siafehizar vd sia: dagar grr uf¥afda s sk 3

C. g, faferiS &t sic @ e, 3er ud srcaforiz sor$ 2ld 3 Sl dId caId @ BRUT Uh-g? dlI Jelifdd o 3

D. sicrRicdi gurrchl & sicefa Fad ud Asier & gftereil o J31a: gl & dia orfts @ Ffdazor grr forerdfya s sirar 3
ofi fou a1 el 3 1 8t ST gl ¢

[Question ID = 848][Question Description = S2_qSNz_PG_ITS_Q48]
1. Aonly/dact A

[Option ID = 3389]
2. Bonly/aact B

[Option ID = 3390]
3. Conly/@aa C

[Option ID = 3391]
4. Cand D only/daet C sk D

[Option ID = 3392]
Correct Answer :-
e Aonly/daet A
[Option ID = 3389]



49) Globalisation is a complex process meaning

A. It can be reduced to a single theme

B. The 'local’ and the 'national’ are subordinate to the ‘global’

C. It forges connections between previously unconnected people, communities, institutions and societies

D. It is used as an ideological device by politicians and theorists who wish to advance a market-oriented economic agenda

Choose the correct answer from the options given below:

dedip2ur v Sifeer gfpan & et aref 8 -

A. 331 v ara (Aocden) @ wu 3 Rifdra fean s Iwar 3

B. 'ramefl’ 3iiz "Aftcy’ "dffas’ aca @ snefier 3

C. a8 yd 3 sp1sag oliell, AHSRIl, Azl vd A & dikr Ader Fenftra o 3

D. 3 IS vd 9RgfiIct SrI Agifere Aq & Fu i aeRlce e BrRiaH Bl agol @ ot SuRIeI 3 orRI Siar 3
il fou o1 fyaseul 3 31 & 3a= goi ¢

[Question ID = 849][Question Description = S2_qSNz_PG_ITS_Q49]

1. Aonly/@ae A

[Option ID = 3393]
2. Bonly/@ac B

[Option ID = 3394]
3. Conly/@ae C

[Option ID = 3395]
4. D only/@act D

[Option ID = 3396]
Correct Answer :-
® A only/adac A
[Option ID = 3393]

50) Global policies mean

A. A growing number of political issues have acquired a ‘global’ character

B. International politics to be consigned to the dustbin of history

C. Politics at the global level transcend politics at the national, local or for that matter, any other level
D. 'The global' and 'the international’ should be seen as rival or incompatible modes of understanding

Choose the correct answer from the options given below:

dfao IsTelifer T aref 3 :

A. 361D IR ISTolifcres ARICl of o "dffad’ Fasu d ffrn 3

B. siazicsda rstofifer @I sfererar @ m3aret i siet e sy

C. dffaem ¥z & AIswelifer Afte, Femeii sremar fpil off Ta= & Ren @I ur &2 fern 3
D. dftas’ aen iR @I Siel @1 Yfdrged! srerar uReuR fRielt smept HAren Sifon aifdu
il fou s1e fraseul 9 2 & 3a= goi ¢

[Question ID = 850][Question Description = S2_qSNz_PG_ITS_Q50]

1. Aonly/@ae A

[Option ID = 3397]
2. Bonly/@ac B

[Option ID = 3398]
3. Aand C only/@act A siiz C

[Option ID = 3399]
4. D only/dder D

[Option ID = 3400]
Correct Answer :-
® A only/dac A
[Option ID = 3397]



51) India’s failure to have a strong foothold in Central Asia is attributed to
A. Religious differences

B. Geographical disadvantages

C. Chinese Influence

D.Terrorism related issues

Choose the correct answer from the options given below:

Jier ofORI 3 HSIgA 3MMER Follol 3 HIRA B 3RIBCIAT Bl BRI 3 ?

A. enfdfes e

B. silsnifers Rt

C. o1 @1 Yorma

D. siimarc 3 I3 AT

offa fou s1u fyeseul 3 2 & 3a= goi ¢

[Question ID = 851][Question Description = S2_qSNz_PG_ITS_Q51]
1. Aonly/dac A

[Option ID = 3401]
2. Bonly/daa B

[Option ID = 3402]
3. Conly/@ae C

[Option ID = 3403]
4. D only/@aet D

[Option ID = 3404]
Correct Answer :-
e Aonly/dact A
[Option ID = 3401]

52) Multiculturalism is best understood as

A. A political doctrine with a pragmatic content

B. A philosophical school with a distinct theory about man's place in the world
C. A way of viewing human life

D. The proper response to ethnic, cultural and religious diversity

Choose the correct answer from the options given below:

gz sid 8 -

A. cgasr! dca @ A1 Ud ISHifae siufer & wu 3

B. v croffores a1 @ wu 3 frie! e 3 #Ae@ & Ferel & IR 3 v fafdree a1a 3
C. arora Sfidet @I S0l oI T zfedlur

D. iR, Fivafere vd enfdfa soimdlr @ AFRM a2 D WU d

offa fou s1u fyeseul 3 2 & 3a= goi ¢

[Question ID = 852][Question Description = S2_qSNz_PG_ITS_Q52]
1. Aonly/dae A

[Option ID = 3405]
2. Bonly/dae B

[Option ID = 3406]
3. Aand C only/daer A 3z C

[Option ID = 3407]
4. Cand D only/@aet C sfiz D

[Option ID = 3408]
Correct Answer :-
® A only/dac A
[Option ID = 3405]



53) American revolution was caused by a conflict between

A. Sovereignty of English King

B. Sovereignty of English Parliament

C. Sovereignty of the colonial legislatures that had been established in America
D. Sovereignty of the primitive Americans

Choose the correct answer from the options given below:

3rAf¥eh wifer fepards «far e o1 ufyonar off -

A. 3i3)I 9IRIG Bt AYYAr

B. 3f)ll 3G I AysIar

C. situforafdre faemsii dbi AgAr 35121 sreifedT i Fenita o s e
D. snfed smifech &bl sigegar

it fou o1 frpeul 9 21 1 3a= goi ¢

[Question ID = 853][Question Description = S2_qSNz_PG_ITS_Q53]
1. Aonly/dae A

[Option ID = 3409]
2. Bonly/@ac B

[Option ID = 3410]
3. A, Band C only/daa A, B aie C

[Option ID = 3411]
4. D only/a>ac D

[Option ID = 3412]
Correct Answer :-
® Aonly/dact A
[Option ID = 3409]

54) Russian revolution was caused by a growing disjunction between
A. Agrarian and aristocratic society

B. Highly autonomous state and traditional monarchy

C. Lenin and Stalin

D. Bolsheviks ad Mensheviks

Choose the correct answer from the options given below:

33 bl Fpifelr o1 BRI fdboid> i dgar forilsTe eI -

A. DU 3iiz AYlod AA D &k

B. 3Ta Farmdadr arcl Ucg dell URURPIA AsIdd D o

C. aforet siiz Ferferer @ i

D. dicoifaml aer derenfami & i

il 3w o1 fyaseul 3 A 7 3= goi ¢

[Question ID = 854][Question Description = S2_qSNz_PG_ITS_Q54]
1. Aonly/daer A

[Option ID = 3413]
2. Aand B only/dact A siiz B

[Option ID = 3414]
3. Conly/@ae C

[Option ID = 3415]
4. D only/@>ac D

[Option ID = 3416]
Correct Answer :-
® Aonly/dact A
[Option ID = 3413]

55) Modernisation resulting from which of the following may push democratisation forward



A. Foreign Investment
B. Globalisation

C. Trade

D. War

E. Embargo

Choose the correct answer from the options given below:

forrarferRaa & A fopard ufdvmeazsu sngyforcblaul Ysirddgars ol 3i1el a¢1 Addrl 3?7

A. feft foraer
B. dediazur

C. =mur

D. gg
E. ura yferier
il feu sru fareseal 3 A A Ia= gol ¢

[Question ID = 855][Question Description = S2_qSNz_PG_ITS_Q55]
1. A, Band C only/@aet A, B 3z C

[Option ID = 3417]
2. Donly/aaa D

[Option ID = 3418]
3. E only/@aa E

[Option ID = 3419]
4. Conly/aaea C

[Option ID = 3420]

Correct Answer :-

e A, Band Conly/dac A, B siiz C
[Option ID = 3417]

56) The International society's tradition of International Relations focuses on
A. International history, ideas and values

B. Religion and ethnicity

C. International structures and institutions

Choose the correct answer from the options given below:

sicRicdlr Fder &t siaricd Apie uius fooa uz dfoga 3 :

A. sirisd sfeerl, foar wd Rigia

B. emt 3l sirerastiedl

C. oIt FH¥aend ud dHzend

oA R s1e Riecdl # A a1 a2 goi ¢

[Question ID = 856][Question Description = S2_qSNz_PG_ITS_Q56]
1. Aonly/dac A

[Option ID = 3421]
2. Aand B only/dact A iz B

[Option ID = 3422]
3. Aand Conly/@aet A sz C

[Option ID = 3423]
4. B only/dac B

[Option ID = 3424]
Correct Answer :-
® Aonly/dact A
[Option ID = 3421]



57) The traditional approach to foreign policy, which analyses the substance of foreign policy as practised, was advocated
mainly by

A. Historians and jurists
B. Bureaucrats
C. Philosophers

Choose the correct answer from the options given below:

faSor forfer @ Jder 3 RURPIA eftedlvr Sl ®rasd oI ofifel @ dca @1 frauuT Bl 3 - oI Weda I FU A [bAaD GRI {5 SR or -
A. sfersrafact wd fafRrawmsii grr

B. silwomsl gRr

C. croffor®l grr

il fou o1 fyeseul 3 3 & Fa= goi ¢

[Question ID = 857][Question Description = S2_qSNz_PG_ITS_Q57]

1. Aonly/@ae A

[Option ID = 3425]
2. Bonly/@ac B

[Option ID = 3426]
3. Conly/@aer C

[Option ID = 3427]
4. Aand C only/@aet A siiz C

[Option ID = 3428]
Correct Answer :-
® A only/adact A
[Option ID = 3425]

58) World War Il witnessed new modes of warfare technologies across the world. Which of the following is/are correct in
this context?

A. Development of RADAR

B. Development of aircraft carriers

C. Development of submarines and anti-submarine
D. Development of Atom bomb

Choose the correct answer from the options given below:

fara gg 1l 3 fra-rar ur ole AEIfye YienidrbRr areEil oT SeqyRleT 31 R sAd e 3 forarfeilRaa 3 A ar 38 3 ?
A. PR @I [dorT

B. wR@UC ar®l @I f[dorRt

C. J9aif¥ol 3iiz ¥odl Adfe oI famra

D. uzanvy 9a1 @ gRiler 4 giy

offa fou s1u freseul 3 21 & 3a= goi ¢

[Question ID = 858][Question Description = S2_qSNz_PG_ITS_Q58]
1. Aonly/dae A

[Option ID = 3429]
2. A, B, Cand D/daet A, B, C aie D

[Option ID = 3430]
3. Bonly/dact B

[Option ID = 3431]
4. Conly/@ae C

[Option ID = 3432]
Correct Answer :-
® A only/adac A
[Option ID = 3429]



59) The Cold War was a period of political hostility between
A. Islamic and non-Islamic countries

B. Capitalist and Communist countries

C. Rich and poor countries

Choose the correct answer from the options given below:

offa g fopard <t 6l Istoliferas orgar @ sifarer ft -
A. gi¥ca aen 3-gRaa ol & o

B. dgoitardt aen Ae=rarc ot & dia

C. A5 aen sk Soil & i

il 3w a1 fyaseul 9 A W& 3R goi ¢

[Question ID = 859][Question Description = S2_qSNz_PG_ITS_Q59]
1. Aonly/dae A

[Option ID = 3433]
2. Bonly/aact B

[Option ID = 3434]
3. Conly/daa C

[Option ID = 3435]
4. Aand B only/@act A siiz B

[Option ID = 3436]

Correct Answer :-
® Aonly/dac A

[Option ID = 3433]

60) The key debates about the genesis of the Cold War are
A. Systems approach

B. Hegemonic approach

C. Orthodox approach and Revisionist approach

Choose the correct answer from the options given below:

offT gg &t Ieufer & an 3 yga aw 3 -
A. ddra yafa (Rres smxa)

B. emerdblr ygfer (3owiifdras argrer)

C. RwrKd du1 AAlE6IoR! ygia
ofi<r fou a1 forapeul 3 31 A8} 32 gof ©

[Question ID = 860][Question Description = S2_qSNz_PG_ITS_Q60]
1. Aonly/dae A

[Option ID = 3437]
2. Bonly/@act B

[Option ID = 3438]
3. Conly/@aa C

[Option ID = 3439]
4. Band C only/dac B siz C

[Option ID = 3440]

Correct Answer :-
® Aonly/dae A

[Option ID = 3437]

61) The proliferation of Weapons of Mass Destruction (WMD) by state or non-state actors can be prevented by
A. Banning nuclear tests

B. Discouraging the state or non-state actors from getting the necessary technology and material

C. Freezing economic sources

Choose the correct answer from the options given below:



IUCSY 3reraT 312 A decdl FRI FBIHAGHIID FRRIRI B YRR DI DA ADI Sl ADI 3 :

A. wayg, udlgvll u? yferder ceIen

B. 3reg srerar 31e-2ufc dedl @l sira9ad YieNPIchRI wd ARPS Yra w2l A Adell
C. anféfen el ot dc Dol

il fou s1e fraseul 9 3 & 3a= goi ¢

[Question ID = 861][Question Description = S2_qSNz_PG_ITS_Qé61]
1. Aonly/@ae A

[Option ID = 3441]
2. Bonly/@ac B

[Option ID = 3442]
3. Conly/a@aa C

[Option ID = 3443]
4. Aand Conly/@ae A sik C

[Option ID = 3444]

Correct Answer :-
® A only/dacr A

[Option ID = 3441]

62) The Non-Aligned Movement (NAM), which was established in 1961, was based on the principles of
A. Neutrality

B. Mutual economic assistance

C. Human rights

Choose the correct answer from the options given below:

ad 1961 3 gry 31 oK1 se-forrugr sricicol fopal Rigidl uz smenfed e -

A. aczear

B. wreur anffe AsREAr

C. Forafior

il fou s1e fraseul 9 2 & Ia= goi ¢

[Question ID = 862][Question Description = S2_qSNz_PG_ITS_Q62]
1. Aonly/dae A

[Option ID = 3445]
2. Aand B only/@act A 3l B

[Option ID = 3446]
3. Bonly/daca B

[Option ID = 3447]
4. Conly/dae C

[Option ID = 3448]

Correct Answer :-
e Aonly/dact A

[Option ID = 3445]

63) The main highlights of the Helsinki Accord signed on 1 August 1975 were:
A. European security

B. Cooperation in economics, science, technology and environmental issues

C. Cooperation in humanitarian and other fields

Choose the correct answer from the options given below:



1 3prR4d, 1975 @1 sransifea 3fezidt FarEia o g Rduand of :

A. JRidiRr g

B. snf¥fas, dsufora, GienfSrbia aen urafazor dAdeht smercl d Asder

C. arordiz 3 siea §iq) A AT

il fou s1e fraseul 9 31 & 3a= goi ¢

[Question ID = 863][Question Description = S2_qSNz_PG_ITS_Q63]
1. Aonly/@ae A

[Option ID = 3449]
2. Bonly/@ac B

[Option ID = 3450]
3. Conly/@aa C

[Option ID = 3451]
4. A, Band C/dae A, B aiz C

[Option ID = 3452]

Correct Answer :-
e Aonly/adact A

[Option ID = 3449]

64) The Atlantic Charter of 1941 highlights which of the following?
A. All people have a right to self-determination

B. Global economic cooperation and advancement of social welfare
C. Freedom from want and fear

Choose the correct answer from the options given below:

ad 1941 o1 siecifed arés & fadaars fowafciRaa A A =n 3 ?

A. 131t clell @ ura ¥a-fererfzor @1 sif2rerR

B. fora snffes 1sier SR Arfore wevl @1 Hatko
C. 3pi@ wd 31 A JRp

il fou a1e fraseul 9 31 W& 3a= goi ¢

[Question ID = 864][Question Description = S2_qSNz_PG_ITS_Q64]
1. Aonly/daet A

[Option ID = 3453]
2. Bonly/aact B

[Option ID = 3454]
3. Conly/@aa C

[Option ID = 3455]
4. A, Band C/daer A, B ai C

[Option ID = 3456]

Correct Answer :-
e Aonly/dact A

[Option ID = 3453]

65) Central America's Northern Triangle consists of which of the following countries?
A. El Salvador and Honduras

B. Guatemala, Costa Rica

C. Cuba

Choose the correct answer from the options given below:

e ANDT D Iadl feppivr I forgsiferRae 3 3 et A Jor onfdrer 3 ?



A. 3re1 AcaER, sigAa
B. sarcarcn, wiverfyat

C. agar
offa fou s1u fyeseul 3 2 & 3a= goi ¢

[Question ID = 865][Question Description = S2_qSNz_PG_ITS_Q65]
1. Aonly/@ae A

[Option ID = 3457]
2. Bonly/@ac B

[Option ID = 3458]
3. Conly/aqer C

[Option ID = 3459]
4. A and B only/d>aet A iz B

[Option ID = 3460]
Correct Answer :-
® A only/adac A
[Option ID = 3457]

66) Match List | with List Il

List | List I

Treaty Year

A. Missile Technology Control Regimell. 1968

B. Nuclear Non-Proliferation Treaty |ll. 1996

C. Partial Test Ban Treaty 11l. 1987

D. Comprehensive Test Ban Treaty ([IV. 1963

Choose the correct answer from the options given below:

It -1 Bt et -1l A gakma Hide

et -1 et -1l
ifer aref

A. Brarser 2aifcist @ REET 1. 1968
B. saRrerz oifer-Qferderet At I1. 1996
C. urBrra 2w do1 A 1. 1987
D. @ifgERa 3w Ao &G IV. 1963

ofia 3w o1 el 3 A At IR gfom :

[Question ID = 866][Question Description = S2_qSNz_PG_ITS_Q66]
1. A-IV,B-lll,C-1,D-1l

[Option ID = 3461]
2. A-1,B-1IV,C-1ll,D-1I

[Option ID = 3462]
3. A-1L,B-1I,C-1V,D-I

[Option ID = 3463]
4. A-1IL,B-1,C-1V,D-1I

[Option ID = 3464]
Correct Answer :-
o A-IV,B-1ll,C-1,D-1l
[Option ID = 3461]

67) Match List | with List Il

List | List Il

Ideas Persons

A. China Dream I. Deng Xiaoping
B. Socialism with Chinese Characteristics|ll. Mao Zedong
C. Malacca Dilemma Ill. Xi Jinping

D. Hundred Flowers Campaign IV. Hu Jintao

Choose the correct answer from the options given below:



&t -l @1 3 -1l A gAfra Hifdw

et -1 il

[z ottt

A il @1 Aot I. 3ot Hisiftisr
B. JraIrstarg, <iofl faroruansii afda Il. Jmsi Srsist
C. Jrcraen1 gfaren lll. >t Rroiftist
D. o yu 3iférirer IV. 3 fSroransit

off< feu oru fpeal 3 A 38l 3R gforo :

[Question ID = 867][Question Description = S2_qSNz_PG_ITS_Q67]
1. A-IV,B-I,C-1lI,D-1

[Option ID = 3465]
2. A-1L,B-1,C-1V,D-Il

[Option ID = 3466]
3.A-1,B-1L,C-1,D-1IV

[Option ID = 3467]
4. A-1,B-1,C-1V,D-1l

[Option ID = 3468]
Correct Answer :-
e A-IV,B-1,C-1lll,D-1l

[Option ID = 3465]

68) Match List | with List Il

List | List Il

States Leaders

A. USSR I. Fidel Castro

B. Cuba Il. Ho Chi Minh

C. Vietnam Ill. Che Guevara

D. Argentina IV. Nikita Krushchev

Choose the correct answer from the options given below:

It -1 ot gt -1 21 gifera difre ¢

Rret -1 oret -l

RTSg oreT

A. AferIa Jdga |. f5ger drRGl
B. a=ar 1. & <t et

C. forrdoIar 11, & sa=r

D. srsiélonm IV. forfépen gQa

ofia fRu o1 el 3 A A I gfom :

[Question ID = 868][Question Description = S2_qSNz_PG_ITS_Q68]
1. A-I,B-1,C-1ll,D-1IV

[Option ID = 3469]
2. A-IV,B-1,C-1Il,D-1l

[Option ID = 3470]
3.A-1L,B-1I,C-1,D-1IV

[Option ID = 3471]
4. A-1IL,B-1V,C-1,D-1I

[Option ID = 3472]
Correct Answer :-
e A-I,B-Il,C-Ill,D-1IV
[Option ID = 3469]

69) Match List | with List Il

List | List Il

Date of First Nuclear Test

Nuclear Weapon States

A. 2 November 1966

I. United States

B. 16 October 1964

Il. USSR/ Russia

C. 29 August 1949

Il. Israel

D. 16 July 1945

IV. China

Choose the correct answer from the options given below:




et -1 B e -1l A e e

et - et -
gere ufsgror ferfer URATVL 3R], drcl SoI
A. 2 side=, 1966 I. sraf¥r

B. 16 smacaz, 1964 Il.aferra Jie / wa
C. 29 3prda, 1949 ll. syrIe

D. 16 Sjens, 1945 IV. diear

il f3u o1 frseul 3 3 A IR gom :

[Question ID = 869][Question Description = S2_qSNz_PG_ITS_Q69]
1. A-,B-1I,C-lI,D-1IV

[Option ID = 3473]
2. A-1I,B-1V,C-1I,D-I

[Option ID = 3474]
3. A-1,B-1l,C-1,D-1V

[Option ID = 3475]
4. A-IV,B-1Il,C-1I,D-1

[Option ID = 3476]
Correct Answer :-
e A-1LB-Il,C-1I,D-1IV
[Option ID = 3473]

70) Match List | with List Il

List | List Il

Boundary Lines Demarcated between Countries
A. Durand Line I. India and China

B. McMahon Line Il. India and Pakistan

C. Radcliffe Line Ill. India and Sri Lanka

D. Palk Strait Line IV. Afghanistan and Pakistan

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A R Hife

Rxeht -1 _reht -1

A. 3305 Jr |. e 3R <ol

B. Jicdlsot 1 1. s1Re 3iie urfeperet

C. Jsferaw 3t Ill. s iR offciapt

D. urs 3¢ 3T IV. srwenforzdrot 3tz urfdbzdret

oflax fRu o1 el 3 A At W= gfom :

[Question ID = 870][Question Description = S2_qSNz_PG_ITS_Q70]
1. A-IV,B-1l,C-1ll,D-1

[Option ID = 3477]
2. A-IV,B-1,C-1l,D-1l

[Option ID = 3478]
3. A-1L,B-1V,C-1,D-Il

[Option ID = 3479]
4. A-11,B-1V,C-1II,D-1

[Option ID = 3480]
Correct Answer :-
® A-IV,B-1l,C-Ill,D-1
[Option ID = 3477]

71) Match List | with List Il

List | List Il

Authors Book

A. John W. Garver I. Shedding Shibboleths: India’s Evolving Strategic Outlook

B. Kanti Bajpai and Harsh V. Pantll. Defending India

C. K. Subramanyam Ill. India’s Foreign Policy: A Reader

D. Jaswant Singh IV. Protracted Contest: Sino-Indian Rivalry in the Twentieth Century

Choose the correct answer from the options given below:



et -1 B e -1l A e i

et - et -1l
cRaD gD
A. Sifel secf 3Tz |. of3sr fordiferet: sf3mer sdifedst IefRIP smsegw
B. aﬂfﬁlmﬂzﬁmaﬁiﬁ.”‘ ST <R
o
C. &. JyAOREI lll. 3f32rer wi¥ar diferdl : v fis?
. IV. Qigaes ®ioeze : Rioil-$f30t wsdadl so1 5
D. Sr1dca Ris . )
cdfewer gl

oflax 3w o1 el 3 A At I gfom :

[Question ID = 871][Question Description = S2_qSNz_PG_ITS_Q71]
1. A-I,B-1I,C-1l,D-IV

[Option ID = 3481]
2. A-1l,B-1IV,C-1,D-1l

[Option ID = 3482]
3. A-IV,B-1I,C-1,D-1l

[Option ID = 3483]
4. A-1IL,B-1,C-1V,D-1I

[Option ID = 3484]
Correct Answer :-
e A-I,B-Il,C-Ill,D-1IV
[Option ID = 3481]

72) Match List | with List I

List | List Il

A. Short-Range Ballistic Missile I. Agni Il and Il

B. Medium-Range Ballistic Missile Il. Prithvi

C. Intermediate Range Ballistic Missilellll. Agni V

D. Inter Continental Ballistic Missile |IV. Agni IV

Choose the correct answer from the options given below:

et -1 B e -1l A g e

et -1 Rxeh -1l

A. @3 it fp Jaled Rrisa I. aifdar Il aii= 11
B. smean gil fb dcife RBrisa Il. ge<it

C. sz gl fop dalRee® Rrasa . 3fa1 V

D. siqrasgidia Jafece Brmsa IV. aifdat IV

oif<l feu are fawedl 3 A A8 3R gfore :

[Question ID = 872][Question Description = S2_qSNz_PG_ITS_Q72]
1. A-NI,B-1,C-1V,D-1

[Option ID = 3485]
2. A-IV,B-1,C-1l,D-1l

[Option ID = 3486]
3. A-1,B-1,C-1I,D-IV

[Option ID = 3487]
4. A-1,B-1,C-1V,D-1l

[Option ID = 3488]
Correct Answer :-
e A-IIl,B-Il,C-1IV,D-1

[Option ID = 3485]

73) Match List | with List Il

List | List Il
A. Basic Exchange and Cooperation Agreement between India and USAl. 2002
B. Logistics Exchange Memorandum of Agreement 1. 2018




C. Communications Compatibility and Security Agreement 1ll. 2020
D. The General Security of Military Information Agreement IV. 2016
Choose the correct answer from the options given below:

It -1 ot g -1 21 gifera difere ¢

oxeht - | e -1
A. R 3R g v @ da IR varrdst vus diiue wfidic 1. 2002
B. ciifSiRed vazrisl AHRUSH i wsfidic 1. 2018
C. Dgfordorel BiaUICIferd vus Riagfedl wsfidic Ill. 2020
D. g stora Riagfé sifw Biferd) sewidiorer wafidic IV. 2016

oifa feu aru farsedl 3 A 8 3R gforu :

[Question ID = 873][Question Description = S2_qSNz_PG_ITS_Q73]
1. A-IV,B-1l,C-1,D-1

[Option ID = 3489]
2. A-1L,B-1IV,C-1Il,D-I

[Option ID = 3490]
3. A-I,B-lI,C-1V,D -1l

[Option ID = 3491]
4. A-11,B-1V,C-1I,D-1

[Option ID = 3492]
Correct Answer :-
e A-IV,B-Il,C-1,D-1lI
[Option ID = 3489]

74) Match List | with List I

List | List Il
Bodies/Organisation Headquarters

A. Collective Security Treaty Organisation ||. Cairo, Egypt

B. League of Arab States Il. Moscow, Russia

C. Shanghai Cooperation Organisation Ill. Gaborone, Botswana
D. South African Development Community|lV. Beijing, China

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hifre

et -1 Rxeh -1l

A. I3 Jeu Al Fsroel |. oifdar, 3y

B. 3rd oIl &I cfier Il. AadY, 3T

C. Jurs JAST FHsToeT lll. SiaRren, didaaren
D. sf3r il Rt R IV. afSier, oo

off<l feu oru fpedl 3 A A8 3R gfore :

[Question ID = 874][Question Description = S2_qSNz_PG_ITS_Q74]
1. A-IV,B-I,C-1ll,D-1

[Option ID = 3493]
2. A-1,B-1,C-1V,D- 1l

[Option ID = 3494]
3.A-1,B-I,C-1I,D-IV

[Option ID = 3495]
4. A-IV,B-1lI,C-1l,D-1

[Option ID = 3496]
Correct Answer :-
e A-IV,B-1,C-1lll,D-1l

[Option ID = 3493]

75) Match List | with List Il



List | List Il

Treaties/Agreements Year
A. The Treaty of Rome 1. 1994
B. The Maastricht Treaty Il. 1957

C. The North American Free Trade Agreement [lll. 1947-48
D. The General Agreement on Tariff and TradellV. 1993
Choose the correct answer from the options given below:

et -1 B e -1l A g Hife

Rrch -1 =t -1l
RifeRIT/Frersiia ad

A. 31 bt e 1. 1994

B. 3iRcee w2 1. 1997

C. Iu= A1 Peb aTuR Asiar Ill. 1947-48
D. g9Icb 3l RIUR FFdoell AT JHSIAT IV. 1993

il fou a1 fyseul 3 I A8 IR gfom ©

[Question ID = 875][Question Description = S2_qSNz_PG_ITS_Q75]
1. A-1,B-1Il,C-1Il,D-IV

[Option ID = 3497]
2. A-IV,B-1Il,C-1I,D-1

[Option ID = 3498]
3. A-lILB-1,C-1V,D -1l

[Option ID = 3499]
4. A-1,B-IV,C-1,D-1ll

[Option ID = 3500]

Correct Answer :-
e A-1,B-1Il,C-1ll,D-1IV

[Option ID = 3497]

76) Arrange the following peace agreements in armed conflicts in ascending chronological order
A. Iran-Iraq

B. East Timor

C. Bosnia-Serb Republic

D. Tajikistan

E. Chad-Libya

Choose the correct answer from the options given below

A9 e delt orifer FRIEIAI B RIS BICTDIIGRIR RIAf3erd B3 :

A. Sror-sam

B. udf fepie

C. di¥orn-a1d SR

D. arfsifepaerer

E. ars-ciifern

il feu aru faresedl 3 A A8 Ia= gol ¢

[Question ID = 876][Question Description = S2_qSNz_PG_ITS_Q76]
1. B,D,E C, A

[Option ID = 3501]
2. A,E,C,D,B

[Option ID = 3502]
3.C,D,EAB



[Option ID = 3503]
4. D,E,AC,B

[Option ID = 3504]

Correct Answer :-
e BD,E,C,A

[Option ID = 3501]

77) Arrange the following events/crises in ascending chronological order
A. Gulf War Il

B. America's War on Terrorism

C. Soviet disintegration

D. Iranian Islamic Revolution

E. Georgian Crisis

Choose the correct answer from the options given below

fogstifepa @l Tcell/HAde D RISl DICTDIAGRIR RAf3erd 3 :

A. i gg - Il

B. ardicars @ Rz amsict sierd
C. frerar Rrercor

D. $eroft swemeft aifer

E. SiffSfen siase

o R a1e Risedl 3 A 78 saz got :

[Question ID = 877][Question Description = S2_qSNz_PG_ITS_Q77]
1. D,C,B,AE

[Option ID = 3505]
2. E,D,C, B, A

[Option ID = 3506]
3. A,B,CD,E

[Option ID = 3507]
4. B,D, A CE

[Option ID = 3508]

Correct Answer :-
e D,C,B,AE

[Option ID = 3505]

78) Arrange in ascending order the following communicable diseases caused due to microbe as per their outbreak

A. Rota Virus

B. Nipah Virus

C. Ebola Virus

D. Hanta Virus

E. Human Immune Deficiency Virus

Choose the correct answer from the options given below

Siiamosii @ ®rRuT ga AR @ B USel @ LR UR MRS @i 3 caafderd o3 :

A. Jer arRA
B. forur arraa
C. sdkar arRA

D. gar arza



E. sora o1 foRIerds radr i dRIRA
il fou s1u fyeseul 3 2 & Fa= goi ¢

[Question ID = 878][Question Description = S2_qSNz_PG_ITS_Q78]
1. A,C,E,D,B

[Option ID = 3509]
2. B,C,D, E A

[Option ID = 3510]
3. B,D,ACE

[Option ID = 3511]
4. E,D,C,B, A

[Option ID = 3512]

Correct Answer :-
e AC,E,D,B

[Option ID = 3509]

79) Arrange in ascending chronological order the following major wars in the twentieth century
A. North Korean invasion of South Korea

B. Soviet invasion of Afghanistan

C. Pre-emptive attack by Israel against Egypt

D. Iraq invasion of Kuwait

E. Japanese offensive against America

Choose the correct answer from the options given below

dhrdl A8t D g Yol DI ARIE DITRATRIR Iafderd @3 &

A. sf3or oifRn uz 3ast oIy o1 sray#T
B. srpenforrdrel Uz AR 3TazvT

C. By @ farg syrIer @1 weferIedl saen
D. ©dda U SAD DI ATaIAT

E. 3@yt @ foeg Simurell sirazgior

ofid fou o1 el 3 A A8t Iz gt ¢

[Question ID = 879][Question Description = S2_qSNz_PG_ITS_Q79]
1. A,B,C,D, E

[Option ID = 3513]
2. E,A,C, B, D

[Option ID = 3514]
3. E,A,B,C,D

[Option ID = 3515]
4. A,C,B,D,E

[Option ID = 3516]

Correct Answer :-
e A/B,C,D,E

[Option ID = 3513]

80) Arrange the following in ascending order in terms of the year of formulation
A. Act East Policy

B. Connect Central Asia Policy

C. Look East Policy

D. Non-alignment Policy

Choose the correct answer from the options given below



forgatferiRaa I Iorad forivr & ad @ IGRIR IR BA A wai¥ed difsme :

A. wac ¥ ofifer

B. worac icer ufdrm ofifer

C. gw $3c oilfer

D. spe-foreuer ofifer

il fou s1e fraseul 3 3 & Fa= goi ¢

[Question ID = 880][Question Description = S2_qSNz_PG_ITS_Q80]
1. A,B,C,D

[Option ID = 3517]
2. D,B,C,A

[Option ID = 3518]
3.D,C, B, A

[Option ID = 3519]
4. B,A,D,C

[Option ID = 3520]

Correct Answer :-
e AB,C,D

[Option ID = 3517]

81) Arrange the following books in ascending chronological order by the year of publication
A. Imagined Communities: Reflections on the Origin and Spread of Nationalism

B. The United States and the Great Powers

C. India: Emergent Power

D. Power and Interdependence: World Politics in Transition

Choose the correct answer from the options given below

forgsiferRaa graml @I 3ol Y19l @ a @ JGId gU PITRAGRIR cIdi¥erd m3-
A. s3ifStos RIS Ruciads sifal g sifel Us 33 siiw olemifersa

B. © goIrses 3¢ US g 9)c uraRd

C. 33 : s3loe uraR

D. ura? Us $cfi3U3c : acd difeifeaa sor cifSiorer

il fou s1e fraseul 9 3 & 3a= goi ¢

[Question ID = 881][Question Description = S2_qSNz_PG_ITS_Q81]

1. A,B,C,D

[Option ID = 3521]
2. D,C,B,A

[Option ID = 3522]
3. D,AC, B

[Option ID = 3523]
4. C,B,A,D

[Option ID = 3524]

Correct Answer :-
e A/B,C,D

[Option ID = 3521]

82) Arrange the following events by year of occurrence in ascending chronological order
A. French Revolution

B. End of World War |l

C. Beginning of World War |

D. Great Islamic Revolution of Iran



Choose the correct answer from the options given below

forgsifeiRan acatrsil @l Ioid> afed dlol D ad @ I U DICTDIAGRIR RIA32rd B3 :

A. wizt $t mifr
B. farazgg 1l &t Jamfy

C. fragg | o1 3Ry
D. #3161 &l 6161 SCnfdD @ifer
il f3u a1 fraseul 9 A W& 3= goi ¢

[Question ID = 882][Question Description = S2_qSNz_PG_ITS_Q82]
1. A,B,C,D

[Option ID = 3525]
2. D,C,B,A

[Option ID = 3526]
3. B,D,C, A

[Option ID = 3527]
4. A, C,B,D

[Option ID = 3528]

Correct Answer :-
e AB,C,D

[Option ID = 3525]

83) Arrange the year of establishment of the following regional organisations in ascending chronological order
A. SAARC

B. SCO

C. ASEAN

D. Eurasian Economic Union

Choose the correct answer from the options given below

fogsifeiRaa giefir vsto0ll @l IoTchl Ferdeil ad @ IGIA U PICTRAGRIR Aaf¥erd @3 &

A. B

B. wrefiail

C. w13t

D. Rwor SR RRIT

ofid fou a1 el 3 A A8 3T goi ¢

[Question ID = 883][Question Description = S2_qSNz_PG_ITS_Q83]
1. A,B,C,D

[Option ID = 3529]
2. D,C, B, A

[Option ID = 3530]
3. C,A B, D

[Option ID = 3531]
4. B,D, A C

[Option ID = 3532]
Correct Answer :-
e A/B,C,D
[Option ID = 3529]

84) Arrange in ascending chronological order the following sequence of events

A. Independence of Pakistan



B. Liberation of Bangladesh
C. Sino-India War
D. Kargil War

Choose the correct answer from the options given below

forgatferRaa acoirapd @I a6 U PITRAGRIR Raf¥erd ®3 :

A. urfeprare &t Fadqgar

B. siscrrgor &I st

C. sRa et gg

D. orBrI g

ofi fou a1 el 3 A 8t IR gl ¢

[Question ID = 884][Question Description = S2_qSNz_PG_ITS_Q84]
1. A,B,C,D

[Option ID = 3533]
2.D,B,C, A

[Option ID = 3534]
3. AC,B,D

[Option ID = 3535]
4.D,C, A B

[Option ID = 3536]

Correct Answer :-
e A/B,C,D

[Option ID = 3533]

85) Arrange in ascending chronological order the year of establishment of major world trade and financial institutions
A. GATT

B. World Bank

C. ADB

D. WTO

Choose the correct answer from the options given below

sol g faea-amur iR forflr Fivensil ol Ferruoll ad @ d6a gu PIThRARIR cIaf¥ed @3 &

A. 3

B. fora o

C.edrd

D. secyg & 3

il feu aru farseal 3 A A Ia= gol ¢

[Question ID = 885][Question Description = S2_qSNz_PG_ITS_Q85]
1. B,A, C,D

[Option ID = 3537]
2. A,B,C,D

[Option ID = 3538]
3.C,D, A B

[Option ID = 3539]
4. D,C, B, A

[Option ID = 3540]

Correct Answer :-



e B,ACD

[Option ID = 3537]

86) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: No single approach can capture all the complexity of contemporary world politics

Reason R: Competition between theories helps reveal their strengths and weaknesses and spurs subsequent refinements
while revealing flaws in conventional wisdom

In light of the above statements, choose the correct answer from the options given below

il Q1 perol fu aw 31 uep i sifdraperet (A) 3l g2 @t aw (R) @ar sk 3

sifdrperet (A) : ®I$ v eftemlvr axdare fara Jswelife &6 sIélerdar o umsor 3 A oidl

a® (R) : Rigidl @ yferuei gRI I61d> Awerdl 3R gderdl BT Udl Ieldl 3 SRIRI 368 JERI Sl & Sidics uRUR¥® fddw® oI udr crdr 8
SR> Dsll B 3IIclid A forvotifdpa faaeal 3 A A8l IR ol ©

[Question ID = 886][Question Description = S2_qSNz_PG_ITS_Q86]

1. Both A and R are true and R is the correct explanation of A/ (A) 3iiz (R) glail 3@t 2 3 (R), (A) &t 3& ren 3

[Option ID = 3541]
2. Both A and R are true but R is NOT the correct explanation of A/(A) 3iiz (R) cleil 38t 3 wag (R), (A) 6t 3t Rz ofdt &

[Option ID = 3542]
3. Alis true but R is false/(A) 2@ 8 uog (R) & o 3

[Option ID = 3543]
4. Ais false but R is true/(A) 3@t oidt @ weoq (R) &t 2

[Option ID = 3544]

Correct Answer :-

e Both A and R are true and R is the correct explanation of A/(A) siiz (R) cleil 2@t & iz (R), (A) 6t 3 =me=n &
[Option ID = 3541]

87) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Environmental scientists say an unprecedented drought in Syria from 2006 to 2009 and torrid temperatures
led to soaring prices and mass migration

Reason R: Environmental crisis in Syria sparked civil unrest, government crackdown and a war that killed half a million
people, displaced millions more and unleashed new waves of terrorism

In light of the above statements, choose the most appropriate answer from the options given below

il €1 erol iU aw 31w @ sifdrveret (A) 3iiz g2 @t a (R) @1 srm 3
aifdrperet (A) : uRIfaRYI frsiforil @I waon & fop it 3 2006 1 2009 o i spyagd P 3iiR spt arudAe @ oru el A gis 38 3l &3
UdiTel U= UCIRIGT 31T

am (R) : iy 3 qRifarvii Jde B DRUT SAGIDI9 G6GI, IRPRI PRIAE 3¢ 3R U U1 Iy 531 BR1d PRI ufd ¢ra disT AR 318, B$ R
clier fazenita gu 3iik sidwdrg fibz 3 3uR 3R

IWRTb Dl B 3irciles A forotifepa faraeal 3 A A8 Ia= ol ¢
[Question ID = 887][Question Description = S2_qSNz_PG_ITS_Q87]
1. Both A and R are correct and R is the correct explanation of A/(A) 3iiz (R) gail 38t 3 3iiz (R), (A) &bt 3 ceen 8

[Option ID = 3545]
2. Both A and R are correct but R is NOT the correct explanation of A/(A) 3iiz (R) clail 38 3 waq (R), (A) bl &t Rz ot &

[Option ID = 3546]
3. Ais correct but R is not correct/(A) 3@ & ussq (R) &t o8t 3

[Option ID = 3547]
4. A‘is not correct but R is correct/(A) 3@ aigt 8 weg (R) &t 2

[Option ID = 3548]

Correct Answer :-

e Both A and R are correct and R is the correct explanation of A/(A) siiz (R) Sleil 3@t 2 3z (R), (A) &t 3 ren 3
[Option ID = 3545]

88) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Salami slicing strategy is a divide and conquer process of threats and alliances used to overcome opposition



Reason R: With the salami slice strategy, an aggressor can influence and eventually dominate a landscape, typically political,
piece by piece

In light of the above statements, choose the correct answer from the options given below

offd ol el fRu s 31 ud @ sifirperet (A) 3R gIR @I ad (R) @ar sri 3

sfdrperet (A) : semafl FemsRRisT LSl Rl ud siodersl @l dicel ud Sfiaer &t gfepn 3 fSreraT YRIleT fugt o 31 3 & feru fpen sirer @
a® (R) : cImeft FarsfRicT 3RSt SRI IQIAvBTSl 3IUsl YHId A IASTOIfeID 8- 81 UR Udh U B AU B2 ADdl &

SRfT Bl @ 31l 3 foatifepa faaedl 3 A1 8 3= gof :

[Question ID = 888][Question Description = S2_qSNz_PG_ITS_Q88]

1. Both A and R are true and R is the correct explanation of A/(A) iz (R) diell &t 3 3l (R), (A) &I 3 ieen &

[Option ID = 3549]
2. Both A and R are true but R is NOT the correct explanation of A/(A) 3z (R) glail 2@l 3 oy (R), (A) 6t At e ol 3

[Option ID = 3550]
3. Ais true but R is false/(A) & @ w3oq (R) &t oidt @

[Option ID = 3551]
4. Ais false but R is true/(A) 3@l o8t 3 wog (R) 38 3

[Option ID = 3552]

Correct Answer :-

e Both A and R are true and R is the correct explanation of A/(A) siiz (R) gleil 2@t 3k (R), (A) &t 38 ®m=n &
[Option ID = 3549]

89) Given below are two statements

Statement I: Sanctions have been the major approach used by the UN to try to prevent Iran from developing nuclear
weapons

Statement Il: Iran’s Nuclear program is seen as a threat to international peace and security

In light of the above statements, choose the correct answer from the options given below

il &1 weror Ru are 3 :

Dol - | : AYTD AT D ERI 36l DI URAIY] BRRIR Follol A Aol D fe18 Yferasel v 31 Ifkp @ WU 3 YRIIGT o srr
@l - || : $3rd D1 urAI] DRIGH siaRisélr onfod gd g @ fo1g WAy & Wy A a1 Sirdar 3

IWRITE Deroll @ el 3 forifeiRaa famcul 3 A 8t 3= ol ¢

[Question ID = 889][Question Description = S2_qSNz_PG_ITS_Q89]
1. Both Statement | and Statement Il are true/aerar | 3iiz |l Sleil &t &

[Option ID = 3553]
2. Both Statement | and Statement Il are false/@erer | iz || Gl sicta &

[Option ID = 3554]
3. Statement | is true but Statement Il is false/@eror | 31 8 , fboq et || et 2 |

[Option ID = 3555]
4. Statement | is false but Statement Il is true/aemt | 31 3 & , fbog werer | & &

[Option ID = 3556]

Correct Answer :-
e Both Statement | and Statement Il are true/a@erer | iz 1l Sroil 218 &

[Option ID = 3553]

90) Given below are two statements

Statement I: The US-India Nuclear Cooperation Approval and Non-Proliferation Enhancement Act was signed in October
2008

Statement II: The US-India Nuclear Agreement aimed at China and Russia

In light of the above statements, choose the most appropriate answer from the options given below

off<r <1 werer few 1w 3 :
D - | : IREIDI-HRA URAN] AT Fdlad 3R AR-glyg-ififorpr sracar 2008 3 seangif¥a gam an
@l - |l : EISIPI-HIRA U] J3EIAI DI c1gA ol 3iiR 21 o1



SWRft el @ Il 3 forerfeiRaa freeul 3 A & 3= gt ¢
[Question ID = 890][Question Description = S2_qSNz_PG_ITS_Q90]
1. Both Statement | and Statement Il are correct/erwer | 3tz |1 Geil 31 &
[Option ID = 3557]
2. Both Statement | and Statement Il are incorrect/@erwr | 3z || Sloil srcte 3
[Option ID = 3558]
3. Statement | is correct but Statement Il is incorrect/weret | 31 8, fpoq were |l s 8 |

[Option ID = 3559]
4. Statement | is incorrect but Statement Il is correct/@emt | o 311 &, fpoqg et || d &

[Option ID = 3560]

Correct Answer :-
e Both Statement | and Statement Il are correct/@ere | 3i || Sloll 3 &
[Option ID = 3557]

Topic:- 90Politics_B

1) Read the passage carefully and answer the questions that follow

Two major points in Wilson's ideas for a more peaceful world deserve special emphasis. The first concerns his promotion of
democracy and self-determination. Behind this point is the liberal conviction that democratic governments do not and will
not go to war against each other. It was Wilson's hope that the growth of liberal democracy in Europe would put an end to
autocratic and warlike leaders and put peaceful governments in their place. Liberal democracy should therefore be strongly
encouraged. The second major point in Wilson's Programme concerned the creation of an international organisation that
would put relations between states on a firmer institutional foundation than the realist notion of the Concert of Europe and
the balance of power had provided in the past. Instead, international relations would be regulated by a set of common rules
of international law. In essence that was Wilson's concept of the League of Nations. The idea that international institutions
can promote peaceful cooperation among states is a basic element of liberal thinking. So is the notion about a relationship
between liberal democracy and peace.

ofia fRw s1g yesit @ 3a= dfsme :

siferes oriferguf frea @ fere fircetor @ Rar & o figsil ur fadhy et ot & smragamar 3 usen &g diwdq iz Fa-forerfzor @ Faeker 2 wwelta
2 3 fig & WD w16 Iorar) frara 3 5 diwdifm FRBR UuR of dl g 3 Scasicdl 3 of 8t Il frcaret @1 smor oft 5 FRa 3 grarct
cliasde] @ fadr A Facorrdl siiz IgleaHrct sidrsil ol sif¥ded JATH 2l SIEsN 3R Ioidl Feurel nifargul IR o cell  srd: Sgrart clacig 1
gl AAedel o Sirel a1fdue  facatol & dRIGH DI g1 #3 fig VA sicRicd JsTool @ Polol A AHdfea & BRI fafiiost oIl & Ader fasra
3 Rl Sort & a1 MR 9Iftp JAdctel Bl arAfIGArad erel & gefoll 3 3if2rs JRT AlFenfores offd uz ®rE 8l sad! aforrua siaeisda
JHder siariecl ool @ s forEl A faforila 81 avqa:, We el & ofiel sifw or9iza &l sr@er?un oft iaRIcERI FFee regl @ i orifergut
BRI DI gGIAl ¢ ADd 3, U8 R & IeRard! fRidel @1 #cl aca 3 IerRard! diadd iz orifer @ i @ Jder oI ot ot &l 3

The democratic peace proposition is based on the argument that
clipdife orifer sraemrun 33 Ridel U= snenfya 2 fp:

[Question ID = 891][Question Description = S2_qSNz_PG_ITS_Q91]
1. Democracies are more peaceful in their relations with all other countries/cliadifeie Soli @ isier 3ror Asft Soli D Mmer 3iferd orferguf Bl &

[Option ID = 3561]
2. Democracies are more peaceful only in their relations with other democracies/cliadifefes 391 dact 3o cliepdifef Soii @ el Sifeip oniferyuf 35 &
[Option ID = 3562]
3. The more democracies there are in the international system, the more peaceful the international system will be/sidRmsdler cerazen 3 cliadifefa Sor fSror
3iférp i1, SiARieclRr carazen 3ol orifergul Seft
[Option ID = 3563]
4. All of these/3b st

[Option ID = 3564]

Correct Answer :-
e Democracies are more peaceful in their relations with all other countries/citedifes Soif @ ider areer it Soif B el Siferep gniferyuf 21 &
[Option ID = 3561]

2) Read the passage carefully and answer the questions that follow

Two major points in Wilson's ideas for a more peaceful world deserve special emphasis. The first concerns his promotion of
democracy and self-determination. Behind this point is the liberal conviction that democratic governments do not and will
not go to war against each other. It was Wilson's hope that the growth of liberal democracy in Europe would put an end to
autocratic and warlike leaders and put peaceful governments in their place. Liberal democracy should therefore be strongly
encouraged. The second major point in Wilson's Programme concerned the creation of an international organisation that
would put relations between states on a firmer institutional foundation than the realist notion of the Concert of Europe and



the balance of power had provided in the past. Instead, international relations would be regulated by a set of common rules
of international law. In essence that was Wilson's concept of the League of Nations. The idea that international institutions
can promote peaceful cooperation among states is a basic element of liberal thinking. So is the notion about a relationship
between liberal democracy and peace.

i) feu s1w yostt & 3ar difSte ¢

3ifere orifergui faea @ fere farcetor & faart & 1 fiigsil uz fady war o1 & smaeamar 3 usen &g dlwdq 3k Fa-forerfzor o Faclor I wwlta
2 3 fiig @ WV A6 Sorarcl frart 3 b cipdifdd FRBR ueur of Al g 3 Scrsidl 3 of 8l bl et @1 smorn oft b PRIu 3 Jgrarct
cliade D PR A Faerarl 3R eI oiarsil oI sif¥dca AT 3l SIesH 3R Joidl ¥l nifergul IR o cell  ar: Ierardl clariq @1
Yol Jaelel fopan Siren anfde  frctor @ wRIaH @1 g1 = fdg ¥ siaeisd sl @ Jslol A Adfera g R fafteor Soii @ Jder foora
3 Rk Sort @ g 3R oIftp JAdctel &t arafdearEad! erel & gefoll # 3if2rd ST AlFenfores offd uz ®rE 8l sad! aforrua siarisda
JAder siaRiedl Pielol @ 2ren forEl 3 fRAforiBia 3l avqa:, Us frcerer @ ofis1 sifws stofRT &t sraemeun off siRisd JIvene s & e orifergof
BRI DI IGIAl ¢ AD 3, U8B [GIR & ISRAIE fRidel @I #el drd & IeRaId! i iR orifer @ dikr > e DI 3rofret oif TSl &

President Wilson made his famous 'Making the world safe for democracy' before
Irscufer ficetet of YR "ifdher ¢ acs AW Bz SHI@AY &t divon e et 6 off ?

[Question ID = 892][Question Description = S2_qSNz_PG_ITS_Q92]
1. The British Parliament/fqfeor 3o
[Option ID = 3565]
2. The House of Representives/yfeifoifer e
[Option ID = 3566]
3. The Senate/g 2ffolc

[Option ID = 3567]
4. The Joint Session of US Congress/3eRidl dio @ b 3iferderer 3

[Option ID = 3568]

Correct Answer :-
® The British Parliament/fgfeor 3ieig

[Option ID = 3565]

3) Read the passage carefully and answer the questions that follow

Two major points in Wilson's ideas for a more peaceful world deserve special emphasis. The first concerns his promotion of
democracy and self-determination. Behind this point is the liberal conviction that democratic governments do not and will
not go to war against each other. It was Wilson's hope that the growth of liberal democracy in Europe would put an end to
autocratic and warlike leaders and put peaceful governments in their place. Liberal democracy should therefore be strongly
encouraged. The second major point in Wilson's Programme concerned the creation of an international organisation that
would put relations between states on a firmer institutional foundation than the realist notion of the Concert of Europe and
the balance of power had provided in the past. Instead, international relations would be regulated by a set of common rules
of international law. In essence that was Wilson's concept of the League of Nations. The idea that international institutions
can promote peaceful cooperation among states is a basic element of liberal thinking. So is the notion about a relationship
between liberal democracy and peace.

s fu s1w yeoit & a2 oo @

sifere orifergul foaea @ e farcetor @ Rl 3 <1 [igsil u? 9y get ol bl siragAddr 3 usel [Kig dlwdd iz Fa-forerizor @ Jaeler A iR
3 U g @ W8 a5 Iorard! frar 3 s dipdifie JReR U of Al g 3 Scrsidl 3 of 8t Sascll  frcec ot smon off 5 I 3 sgrarct
el @ PRI A FAorER] 3R IgleAc! oidrsil PI f¥ca AATH 31 ST 3R IoldI FeATol ifeIgui IR®R o civll  31: ISRAKT cllddc T
Uik Haelel foban Siren anifde  farctol @ DRIGH o1 gRI # fdg YA siaRicd sroel @ Jstol A Adferda & R fafieor Soil o Jder fasra
3 JRIURI oIl @ g 3R AP Jdclol Dl arrafdmdarardt eeir oI getoll # 3iferd 31 AlFeIfeld ofid Uz ®RIA 8 $ADI dfolrud iaRicCRI
JHder siariecl dIofer @ s forEl A faforifa 81 avqa:, We facar & ofisl sifw o19iz1 &t sraerm?un oft siaRfcERI FFerme Ul & i orifergut
JBAPI DI GGIdl ¢ ADd 3, Us AR & IeRardl fRidel @1 #cl acd 3 IerRardl dicd iz orifer & dia @ Jder ®I 3roret ol A&l 3

Wilson's idea of self-determination was applicable to the people of
¥a-forerfur @1 frcerel I AR sreyRIs o ©

[Question ID = 893][Question Description = S2_qSNz_PG_ITS_Q93]
1. Europe/?RIu &l Siolar w2

[Option ID = 3569]
2. Latin America/difear 3@if¥ar &6t Sorr uz

[Option ID = 3570]
3. Asia/vcfdrn & Solar a2

[Option ID = 3571]



4. All nations/3sft 3t bt Stoter w2
[Option ID = 3572]

Correct Answer :-
® Europe/RMu &I Siedr a2
[Option ID = 3569]

4) Read the passage carefully and answer the questions that follow

Two major points in Wilson's ideas for a more peaceful world deserve special emphasis. The first concerns his promotion of
democracy and self-determination. Behind this point is the liberal conviction that democratic governments do not and will
not go to war against each other. It was Wilson's hope that the growth of liberal democracy in Europe would put an end to
autocratic and warlike leaders and put peaceful governments in their place. Liberal democracy should therefore be strongly
encouraged. The second major point in Wilson's Programme concerned the creation of an international organisation that
would put relations between states on a firmer institutional foundation than the realist notion of the Concert of Europe and
the balance of power had provided in the past. Instead, international relations would be regulated by a set of common rules
of international law. In essence that was Wilson's concept of the League of Nations. The idea that international institutions
can promote peaceful cooperation among states is a basic element of liberal thinking. So is the notion about a relationship
between liberal democracy and peace.

o fu a1w gesit & 3a= o @

sifere orifergul fra @ e farcetor @ ferarl 3 <l Rigsil u? 9y get ol &l sragAddar 3 usel [ig dlwdd iz Fa-forerizor @ Jaeler A vl
3 3u g @ Wid as Iorardl frara 3 6 cdipdifie ARBR Uz of dl g 3 Scrsrdl 3 of 8 Sasell  frcs ot snon off 5 JAua 3 grarct
cllade @ faorT A Faeorrsd! siiz oAt sidarsil oI sif¥ded AATH 2l SIEsH 3R Joidl Tl nifargul IR o csll  s1d: Ierar clarig o1
QSR AdAeiel fopT Sl <fdu  factel @ DRIGHA BT GRI I feig VA ARISERI FHvIo0l @ IPslol A AGRIA & PRI fAfiee Soil & Ader fdom
3 JRIURI oIl @ AdPp 3R AP Adclol Dl araldmdarard! eRelr oI getell # 3iferd oI AlFeAIfeId olid U2 ®RIA 8l $ADI dfolud iaRIsCRI
JHder siariecla wigfer @ s forEil A faforifa 8l avqa:, We facar & ofior sifw o19izt &t sraemum off siaRfcERI FFerme Uegl & e orifergut
IBAPI DI GGIAl ¢ ADd 3, U8 AR & IeRardl fRidel @1 #cl aca 3 Ierard! diddd 3= orifer & i @ Jder oI ot ot a3

Who considered Wilson's liberal idea as 'Wishful Thinking'?
forcetal @ IerRark] far ol fpael "sneelardt (frerser) Riaer” ar ?

[Question ID = 894][Question Description = S2_qSNz_PG_ITS_Q94]
1. Marxists/aralag
[Option ID = 3573]
2. Nationalists/2mcarct
[Option ID = 3574]
3. Realists/arafadamarct

[Option ID = 3575]
4. Fascists/wrftarct

[Option ID = 3576]

Correct Answer :-
® Marxists/amatarg
[Option ID = 3573]

5) Read the passage carefully and answer the questions that follow

Two major points in Wilson's ideas for a more peaceful world deserve special emphasis. The first concerns his promotion of
democracy and self-determination. Behind this point is the liberal conviction that democratic governments do not and will
not go to war against each other. It was Wilson's hope that the growth of liberal democracy in Europe would put an end to
autocratic and warlike leaders and put peaceful governments in their place. Liberal democracy should therefore be strongly
encouraged. The second major point in Wilson's Programme concerned the creation of an international organisation that
would put relations between states on a firmer institutional foundation than the realist notion of the Concert of Europe and
the balance of power had provided in the past. Instead, international relations would be regulated by a set of common rules
of international law. In essence that was Wilson's concept of the League of Nations. The idea that international institutions
can promote peaceful cooperation among states is a basic element of liberal thinking. So is the notion about a relationship
between liberal democracy and peace.

siid f$u 31w yesil @ 3z SIS @

siferep oriferguf fara & fere fcerer & frart @ <f fiigsil us fady aer 3ot & smavamar ¥ usen g clipdc 3z Fa-forerfzor @5 FHaslor I i
3 3 fdig @ WV u1s Sorard] fRrart 3 b cipdifdd FRBR urur of Al g 3 Sersidl 3 of 8l JeEbll et @1 smorn ot b PRIu 3 Jerarct
cliade D PR A Facerarl 3R G olarsil oI sif¥dca AT 3l SIesl 3R Joidl Tl nifergul IR o cell  a1: IerRardl ciariq @1
il Aol fopan Siren anfde  frctor > wRIaH @1 g1 =1 fdg ¥ siaeisd sl @ Jstol A Adfera & R fafieor Soii & Jder fopra
3 Rk Soft @ g 3R 9Iftp JAdctel &t arafimaEad! eren & gefoll # 3if2rd ST AlFenfored offd uz ®rRE 8l sad! aforrua siarisda



JAder iR Diofol @ A1 formEl A fAforida 8l avde:, A et @ cfior siit o191 &I sraemun off siqRicd Avrere gl @ i oriferguf
BRI DI IGIAl ¢ ADd 3, U8B TR & IeRard fRidel @I #cl drd & IeRaId! diacic i orifer @ dir @ e @I 3roret oif Ul &

Wilson's faith that international organisation could guarantee international peace was influenced by which of these thinkers?
oRISERI o100l A RIS g1ifer &t sIRE @& yfer faretat @1 faeart v Riae Ao gfsa e ?
[Question ID = 895][Question Description = S2_qSNz_PG_ITS_Q95]

1. John Locke/sSifar cifs

[Option ID = 3577]

2. Immanuel Kant/sdigud wic
[Option ID = 3578]

3. J. S. Mill/3n war. frer

[Option ID = 3579]
4. Karl Marx/rct amazt

[Option ID = 3580]

Correct Answer :-
e John Locke/sifer ciics

[Option ID = 3577]

Topic:- 90Politics_C

1) Read the passage carefully and answer the questions that follow

Sea level rise is one of the most consequential effects of a warming planet, which most scientists say results from the
release of heat-trapping "greenhouse gases" such as carbon dioxide into the atmosphere from the burning of fossil fuels.
Two things are occurring, scientists say. First, the oceans are absorbing much of the heat resulting from the Earth's
warming, causing what scientists call “thermal expansion” - the water literally takes up more space. Second, enormous land-
based polar ice sheets are melting, adding to the volume of water in the oceans. Lately, scientists have become worried
about the accelerating loss of giant ice sheets over Greenland and Antarctica, which together contain enough water to
cause 220 feet of global sea-level rise if they were to melt entirely.

ol f3u a1w gesit & 3az diforg @

AAG D STerRarR A gl saArst ani el gedt o1 Aaiftre afvmsd gera 3 Bl siffroaz dsuferm Sfiarsa $erell @ IURIPT A arps 3 PIdol-ST$-
sifaarss Sizfl "sfiorersa Sl A HTAT D Iesiol ®I UlvnH Al §  ASIIoID] BT Dol & fob < <isi 81 W61 & uscll, gedl @ a1 Blol A IeUool
AT AHG D Siel d1udArel 961 W 3 R dsinford "ersfer gaztiorel” @ad & fSrAdl Sict aqd: 3If2rd FeIrel 32 odr & gadl, yedl ur gdin Raxds
freret 33 3 PRI A D Ia-TR A gig 1 W 3 a1ar D W A, Tsford ffercts 3iiz sicrpfedT @ fRronerdrI Bas] o1 sndrR a6l A ac w61 3
SIEfs 3PR A SIeil Gl are A e sl dl difad IR uR 4G Sicl-3aR 220 hle ao d6 Addar 3

What is one of the most consequential effects of a warming planet?
313t Bicil gedt o Jaifére ufvied gsiai 3 onfdre 3 :

[Question ID = 896][Question Description = S2_qSNz_PG_ITS_Q96]
1. Earthquake/simou

[Option ID = 3581]
2. Drought/3zar
[Option ID = 3582]
3. Sea level rise/gg @ Si1-3R 9 gl

[Option ID = 3583]
4. Snow storm/ 2 sismara

[Option ID = 3584]

Correct Answer :-
e FEarthquake/ssu
[Option ID = 3581]

2) Read the passage carefully and answer the questions that follow

Sea level rise is one of the most consequential effects of a warming planet, which most scientists say results from the
release of heat-trapping "greenhouse gases" such as carbon dioxide into the atmosphere from the burning of fossil fuels.
Two things are occurring, scientists say. First, the oceans are absorbing much of the heat resulting from the Earth's
warming, causing what scientists call "thermal expansion” - the water literally takes up more space. Second, enormous land-
based polar ice sheets are melting, adding to the volume of water in the oceans. Lately, scientists have become worried
about the accelerating loss of giant ice sheets over Greenland and Antarctica, which together contain enough water to
cause 220 feet of global sea-level rise if they were to melt entirely.



s fu s1w yesil & 3@ difore @

AHG D STerrR A gl saArt a1 Bedl geedl o1 Aaiftrom ufzvmedl gura 3 B siifroaz dsiferm sfiarsa $erell d Su=diel A aresc d dIdol-sr$-
sifaarss Sizil "sfierarsa SIAl" A HTAT D IcAsiol DI UV Al 3 ASTIHSIDI DI Dol & fob < <isi 31 W61 & uscll, gedt o a1t Blol A IeUool
SCHT G D Sicl dATuATel &1 Bl 3 ORI dsiifere "epic vaAtiont” ®mad & RRI3 Sal add: 12D Ferel IR ddl & ¢dl, gedl ur gdl Baxs
freret 38 3 RPRRI g D SIA-TR AP A B & a1a D W 3, Jsford sfforcts iR sicrasfeedt @ fonerdr RIEs] oI PR sl 2 #c b1 8
SEfep PR A Sloll Yl avs A Rrae sud dl dffa® ¥R u? 3G Sicl-¥ar 220 fic ae 96 @l 3

Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Sea level rise results from the release of greenhouse gases into the atmosphere
Reason R: Carbon dioxide is a greenhouse gas

In light of the above statements, choose the most appropriate answer from the options given below

oIl QY erol fu aw 31 uep @ sifdreperet (A) 3iiz g2 @t ao (R) @ar sk 3

sifdrperet (A) @ G SIA-IaR gig arRIFHS 3 3ficlals 1Al @ Iesiol ®I UlvIeT 3

aas (R) : ordel s1¥ sifaArss il s3a 1A 3

SR> DUsll B 3Irclld A forvotifcpa faaeal 3 A At I= ol ©

[Question ID = 897][Question Description = S2_qSNz_PG_ITS_Q97]

1. Both A and R are correct and R is the correct explanation of A/(A) 3iiz (R) glail 21t 3 3z (R), (A) &t 3 crzeen 8

[Option ID = 3585]
2. Both A and R are correct but R is NOT the correct explanation of A/(A) 3z (R) cleil 3@t 3 woq (R), (A) 6t 3 =1 ot &

[Option ID = 3586]
3. Ais correct but R is not correct/(A) & 2 wog (R) & ot 3

[Option ID = 3587]
4. Ais not correct but R is correct/(A) 3@t siét 8 weog (R) &t 2

[Option ID = 3588]

Correct Answer :-

e Both A and R are correct and R is the correct explanation of A/(A) siiz (R) gleil 3@t & 3z (R), (A) &t 3& mren 3
[Option ID = 3585]

3) Read the passage carefully and answer the questions that follow

Sea level rise is one of the most consequential effects of a warming planet, which most scientists say results from the
release of heat-trapping "greenhouse gases” such as carbon dioxide into the atmosphere from the burning of fossil fuels.
Two things are occurring, scientists say. First, the oceans are absorbing much of the heat resulting from the Earth's
warming, causing what scientists call "thermal expansion” - the water literally takes up more space. Second, enormous land-
based polar ice sheets are melting, adding to the volume of water in the oceans. Lately, scientists have become worried
about the accelerating loss of giant ice sheets over Greenland and Antarctica, which together contain enough water to
cause 220 feet of global sea-level rise if they were to melt entirely.

ofid f$u srw ygsil @ 30z difmu @

APG D SleR A ghg saArd st el gedi @1 Jalféreo ufzvmsdt gura 3 SR siffrmar dsnfsrm silarsa $erell d Sullel A arygsc 3 dIdoel-SIs-
sifaarss Sizdl "sfiorersa 31l A HTAT D Iesiol ®I UlvndH Aleid §  AsIIform] I Dol & fob < <isi 31 W61 & uscdl, gedl @ a1t Blol A IeUool
AT AHG D Stel dudArel 961 W 3 Y dsiform "ersfer gaztiorel” @ad & fSradl Sict avqd: i FeIrel 32 odr & gadl, yedl ur gdiRn RBaxds
freret 33 3 PR A D Ia-TR A gig A W 3 a1ar D W A, Jsford ffercts il sicrfedT @ fronerrI Bas] o1 snerR a6l A ac w613
SEfs 3PR A SIell gl are A e ol dl difae IR uR 4G Sicl-3aR 220 hle ao 96 Addar 3

Loss of giant ice sheets in which of the following regions has caused concern among scientists?
A. Eurasia

B. Greenland

C. Inner Asia

D. Antarctica

E. Indo-Pacific

Choose the correct answer from the options given below:



fop21 81 A faencrdrr Raxst @1 fracren dsiforet &t feiar o1 BT gott 3 ?
A. ORI

B. sffercis

C. sorz wrRn

D. sicrasfeast

E. Ros-gona

ofid fou o1 el 3 A 8t STz gt :

[Question ID = 898][Question Description = S2_qSNz_PG_ITS_Q98]
1. Aand C only/@aet A siz C
[Option ID = 3589]
2. B and D only/dact B 3iiz D
[Option ID = 3590]
3. CandE only/aaa C sz E

[Option ID = 3591]
4. Aand Eonly/@acAsiz E

[Option ID = 3592]

Correct Answer :-
e AandConly/daeAsiz C
[Option ID = 3589]

4) Read the passage carefully and answer the questions that follow

Sea level rise is one of the most consequential effects of a warming planet, which most scientists say results from the
release of heat-trapping “"greenhouse gases” such as carbon dioxide into the atmosphere from the burning of fossil fuels.
Two things are occurring, scientists say. First, the oceans are absorbing much of the heat resulting from the Earth's
warming, causing what scientists call "thermal expansion” - the water literally takes up more space. Second, enormous land-
based polar ice sheets are melting, adding to the volume of water in the oceans. Lately, scientists have become worried
about the accelerating loss of giant ice sheets over Greenland and Antarctica, which together contain enough water to
cause 220 feet of global sea-level rise if they were to melt entirely.

oifY feu a1 yosit @ 3R difSte ¢

AHG D STeraR A gl zaArt a1 Biedl geedl o1 Aaiftrm afzvmedl gera 3 B3 siffrvaz dsuferm Sfiarsa $ereil d Sudlel A arydsc d didol-s1$-
sifaarss SIl "sfiorarsa 3l A HEAT D IcAsiel oI Ul HAloid & dsiifordl @I waell 3 fb < dicl 8l 381 & uscll, gedl @ st glol A Icucol
SCHT G D Slcl ATUATel JGT 2B 3 FOrRY dsufers "esier vationt” ®mad & RRIA Sial avqa: 3ifere e A2 dar 3 gdl, gedl uz gdia Rerds
freret 38 3 RRRI WG D SIA-3R AL A B & a1a1 D W 3, Jsford sfforcts 3iiR sicrafedt @ foncrdr Ras] @I PR sl A ac w361 3
STafes PR A Jlell gl aze A forerer si¥ Y dlaew TR ur G SIcT-FaR 220 Bl ab a6 Adar 3

What happens when the oceans absorb much of the heat resulting from the Earth's warming?
gedl @ a1 Blol A AG Slcl DI ISUIAT dGol DI Ul Biel 3 :
[Question ID = 899][Question Description = S2_qSNz_PG_ITS_Q99]

1. Snow storms/faa sismama
[Option ID = 3593]
2. Wildfires/graroter
[Option ID = 3594]
3. Thermal expansion/epfet vaRitiorer

[Option ID = 3595]
4. Volcanic eruption/saremaRd! fewic

[Option ID = 3596]

Correct Answer :-
® Snow storms/f2u sismara

[Option ID = 3593]

5) Read the passage carefully and answer the questions that follow

Sea level rise is one of the most consequential effects of a warming planet, which most scientists say results from the
release of heat-trapping "greenhouse gases" such as carbon dioxide into the atmosphere from the burning of fossil fuels.
Two things are occurring, scientists say. First, the oceans are absorbing much of the heat resulting from the Earth's
warming, causing what scientists call "thermal expansion” - the water literally takes up more space. Second, enormous land-
based polar ice sheets are melting, adding to the volume of water in the oceans. Lately, scientists have become worried
about the accelerating loss of giant ice sheets over Greenland and Antarctica, which together contain enough water to
cause 220 feet of global sea-level rise if they were to melt entirely.



oiiY feu a1w yosit @ 3R difSte ¢

AHPG D SIeR R A gl sART st el gedi @1 JFaifers ufzvmsdl gera 3 SR siffroar dsnfsrm silarss erell & Suler A arygsd 3 dIdel-SIs-
sfiqrirss Sl "sfiorarsad Sl A w1 D Iersiel I uf¥viEl Al & AsHforeml I daoll & b A1 disi 31 W8 & usell, geclt & st glot A Icucat
SCAT AHAG D SIcl dIUAl 961 B 3 [rRY dsuford "esfer wation:” ®mad 3 13l Sl avdd: siférd Faurel a2 odar 3 gadl, gedi wr gdla RBaxds
frerer 33 3 PRI A D AT-TR A g A W & a1er D W A, o ffercts iR sicrawfedt & fonerdrr Bas] o1 sndR a6l A ac w1 8
STafes PR A Sl gl avs A firere S¥ d dRfaw Far ur AdHg SIca-3aR 220 bic ab a6 Abar 3

Given below are two statements
Statement I: Melting of land-based polar ice sheets adds to the volume of water in the oceans
Statement II: Greenland and Antarctica contain enough water to cause global sea-level rise

In light of the above statements, choose the most appropriate answer from the options given below

il &1 werer Ru are 3 :

Do - | : gedfl @ g Rarst & frErerol 2 Mg D Sier-3a= d gi 3l 3

@l - |l : 3ffercis 3iir sicrasiem 3 Affam AU SIcI-FaR DI §G1 Aol cIRIP URIRI Sicl Afoolidd 3
SR> DAcll B 3IIcllp I forForfeiRaa fapeul 3 A A3T IR Yol :

[Question ID = 900][Question Description = S2_qSNz_PG_ITS_Q100]

1. Both Statement | and Statement Il are correct/mermet | 3iiz || cloll 31&t &

[Option ID = 3597]
2. Both Statement | and Statement Il are incorrect/@erwr | 3iiz || Sl stctd 3

[Option ID = 3598]
3. Statement | is correct but Statement Il is incorrect/wmermor | 3 8 , fpog et |l arer & |

[Option ID = 3599]
4. Statement | is incorrect but Statement Il is correct/@ert | a1 31 8, fpog et 1| & 8

[Option ID = 3600]

Correct Answer :-

e Both Statement | and Statement Il are correct/a@erwr | iz 1l Slail 318 3
[Option ID = 3597]

Topic:- GP_20NOV_A_SH2

1)

The given table presents the percentage distribution of teachers and ratio of male to female teachers working in a
university in six different subjects (A-F). There is a total number of 1600 teachers in the University. Based on the data in
the table, answer the questions that follow

Subject-wise Distribution of Teachers

Subjects Percentage (%) of TeachersRatio of Male to Female Teachers|
A 13% 1:7
B 18% 5:3
(o 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

aruft d fSU 310 sifws] @ smeR uz gesll @ 3a= difsie @

forearferRaa rufl et fraferenert 3 sremer - sremT foreril 3 (U-uw) BRRA srearu®! @1 gfererd dcel 3R s[eATud] el ieATfieIsii & ropurd
@l yFgd ol 3 feafdenern 3 et sreamaml & e 1600 3 Arvil 3 R oR) sifos! @ R R Yool 1-5 b D IR S &

31eAUD] DI fARIaR dear :

frerr sreemuast Bt gferoradr (%)sreamads iz sreanftapaii dl yferoraar
A 13% 1:7
B 18% 5:3
c 12% 1:3
D 21% 3:4




E 14% 9:5
F 22% 7:9

Total number of teachers in Subject-C is approximately what percent of the total number of female teachers in Subject-D
and Subject-A together?

fererr-C 31 sreamuedl DI apet AR, fawR-D sz faeRr-A d Afdafera su A sreanftoeisii &bl aget AT @I gfeaerd 3 ?
[Question ID = 3626][Question Description = S2_qSNz_PG_GP4_Q01]
1. 58

[Option ID = 14501]
2. 43

[Option ID = 14502]
3. 47

[Option ID = 14503]
4. 51

[Option ID = 14504]
Correct Answer :-
e 58

[Option ID = 14501]

2)

The given table presents the percentage distribution of teachers and ratio of male to female teachers working in a
university in six different subjects (A-F). There is a total number of 1600 teachers in the University. Based on the data in
the table, answer the questions that follow

Subject-wise Distribution of Teachers

Subjects Percentage (%) of TeachersRatio of Male to Female Teachers|
A 13% 1:7
B 18% 5:3
o 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

Arvil 3 13U o1 sifds] B meR uz Yooll & IR SifSre :

forrarferRaa zofl ezt fraferemert 3 srerer - srerT foreril 3 (U-uw) BRizA srearu®! @1 gfererd deel 3R sreATud] e sieArfirepIsii & sfourd
@l yFgd ol 3 [reafdenern 3 et sreamaml & e 1600 3 Arvil 3 R oR) ifos! @ R R Yool 1-5 b D IR S &

31EAUD] DI fARIAR dcal :

frerr sreemuast B gferoradr (%)sreamuds il sreftapaii ol yferoraar
A 13% 1:7
B 18% 5:3
C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

What is the difference between the total number of teachers in Subject-F and the total number of male teachers in
Subject-A and Subject-B together?

farerr-F 3 et sreamaopl i A SiiR faeRI-A e faerRr-B 3 Afdafera su A srearumi &l iz @ & fovdon siaR 8 ?
[Question ID = 3627][Question Description = S2_qSNz_PG_GP4_Q02]
1. 192

[Option ID = 14505]
2. 182



[Option ID = 14506]
3. 146

[Option ID = 14507]
4. 136

[Option ID = 14508]
Correct Answer :-
e 192

[Option ID = 14505]

3)

The given table presents the percentage distribution of teachers and ratio of male to female teachers working in a
university in six different subjects (A-F). There is a total number of 1600 teachers in the University. Based on the data in
the table, answer the questions that follow

Subject-wise Distribution of Teachers

Subjects Percentage (%) of TeachersRatio of Male to Female Teachers|
A 13% 1:7
B 18% 5:3
C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

arufl d fSu s1u sifws] @ smeR U gesll @ 3a= difsme @

forrarferRaa vl fp=1l feraferenert 3 sremer - 3rcmT eIl 3 (T-uw) DRi srearum] @1 gferord sl 3R [eATUD] qell 3reATfdIsi & 3ofurd
Dl yqd @il 8 faeafiener 3 @e el &f e 1600 & ARl 3 621 3R sifps] @ MR R Yool 1-5 b D IR S :

31eATUD] DI fARIaR dear :

13% 1:7
18% 5:3
12% 1:3
21% 3:4
14% 9:5
22% 7:9

fRrerr preamuast &t yfereraar (% )siearaw siiz sreenfr1ail S Rt
A
B
C
D
E
F

What is the difference between the number of female teachers in Subject-F and the number of male teachers in Subject-
c?

faerRr-F 3 sreanforastsii b Jizen siik fawer-C 3 sieamaal b Jizen @ dka fosdon siaz 3 ?

[Question ID = 3628][Question Description = S2_qSNz_PG_GP4_Q03]
1. 156

[Option ID = 14509]
2. 160

[Option ID = 14510]
3. 150

[Option ID = 14511]
4. 153

[Option ID = 14512]
Correct Answer :-
e 156

[Option ID = 14509]

4)

The given table presents the percentage distribution of teachers and ratio of male to female teachers working in a
university in six different subjects (A-F). There is a total number of 1600 teachers in the University. Based on the data in



the table, answer the questions that follow

Subject-wise Distribution of Teachers

Subjects |Percentage (%) of TeachersRatio of Male to Female Teachers|
A 13% 1:7
B 18% 5:3
C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

ARvufl # fSu 31U sifds] @ MER U gosll @ 3= difsme @

forgoiferiRaa vl fdp2il frafdercrn 3 31 - 31l f[erll 3 (T-u) DRI 3reAa™] T YieIord scol 3R EATUD] daT eATTUPI3i @ relurd
Dl g ol 3 frafdenert 3 @ sreamael B diwn 1600 3 arvfl 3 8 o1 sifst @ smems uz ol 1-5 ao DI < .

31eMuehl oI faeRIar d@cot ©

frerer areemaast Bt gferoradr (%)sremuds 3iie sre=mftrpsit bt gferoraar
A 13% 1:7
B 18% 5:3
c 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

What is the total number of male teachers in the University?

Rreafeenerr 3 sreamawt &t aer e Rl 3 ?

[Question ID = 3629][Question Description = S2_qSNz_PG_GP4_Q04]
1. 696

[Option ID = 14513]
2. 702

[Option ID = 14514]
3. 712

[Option ID = 14515]
4. 668

[Option ID = 14516]
Correct Answer :-
e 696

[Option ID = 14513]

5)

The given table presents the percentage distribution of teachers and ratio of male to female teachers working in a
university in six different subjects (A-F). There is a total number of 1600 teachers in the University. Based on the data in
the table, answer the questions that follow

Subject-wise Distribution of Teachers

Subjects |Percentage (%) of TeachersRatio of Male to Female Teachers|
A 13% 1:7
B 18% 5:3
(o 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9




arvil 3 U o1 sifost & e uz gosil @ = S :

foreatferRaa rufl et feraferenert 3 sremer - srcmT foreril 3 (T-uw) PRia srearum] @1 gfererd dcel 3R [eATUD] el reATfieIsii & 3ropurd
@l yFgd ol 3 feeafdencrn 3 @t sreamaml &f e 1600 3 Arvil 3 R oR SifdsS! @ R R Yool 1-5 b D IR S &

31EAUD] DI fARIaR dear :

13% 1:7
18% 5:3
12% 1:3
21% 3:4
14% 9:5
22% 7:9

fRrerr preamaast 6t yferererar (% )siearaw siiz sreenfr1ail S Rt
A
B
C
D
E
F

Which is the ratio of the number of female teachers in Subject-E to the number of male teachers in Subject-D?

fererr-E 9 srenftoptsii bl dzear @ yierord o1 siofurd faeRr-D 3 sreamut bl e a1 fdodent 3 ?

[Question ID = 3630][Question Description = S2_qSNz_PG_GP4_Q05]
1. 2:9

[Option ID = 14518]
2.3:7

[Option ID = 14519]
3.5:3

[Option ID = 14520]
4. 5:9

[Option ID = 14517]

Correct Answer :-
e 5:9
[Option ID = 14517]

Topic:- GP_20NOV_B_SH2

1) The variability or flexibility of delivery during the presentation of a lesson by a teacher is called as

Uh EATUD HRI U6 @ YIcilaur & SRiol yzgfer & uf¥aderofierar srerar siarar o1 f&p21 Fu 3 Siren sirer 3 ?

[Question ID = 3631][Question Description = S2_qSNz_PG_GP4_Q06]
1. Thinking curriculum/Rider urgerage [Option ID = 14521]

2. Instructional variety/sifdiferas fafderar [Option ID = 14522]

3. Comprehension/3m@st [Option ID = 14523]

4. Procedural knowledge/yfeieaie siret [Option ID = 14524]

Correct Answer :-

e Thinking curriculum/Rider urgerapsr [Option ID = 14521]

2) Ministry of Education, Government of India's, SWAYAM platform for offering MOOCs has how many quadrants for
designing courses?

3R IRDR D IS IR FRI Aarferd BI.3ML3IL AL (MOOCs) ygrar @20t 3q Taz (SWAYAM) 3ia @ oIRi @I dollol (3sisfoit) o fere
feperor agels 3 ?

[Question ID = 3632][Question Description = S2_qSNz_PG_GP4_Q07]
. 2 Quadrants/2 agefe [Option ID = 14525]
4 Quadrants/4 agefa [Option ID = 14526]
6 Quadrants/6 agefe [Option ID = 14527]
8 Quadrants/8 agefew [Option ID = 14528]

A w N -

Correct Answer :-
e 2 Quadrants/2 aqefe [Option ID = 14525]

3) Given below are two statements
Statement I: All components of working memory are in place by the age of 4 in a child as a development stage

Statement Il: If a child does not continue to pay attention to information, the activation level weakens and finally drops so
low that the information cannot be reactivated and it disappears altogether



In light of the above statements, choose the most appropriate answer from the options given below

il Jf Dol fdu sre 3 ¢
Dol - | : R &l sazren @ U 3 4 ad &l 33 D arcre 4 gpnefiar Fgfear @ it acd 3ol Ferrer ur aid 8

@l - |l : IEensl & yfd Aafe vw dicid cRIdaR €116 ofdl SdI, dl 3cYRUI IR DaHsIR Bldl 3 3R 3fod 3 sdell BR Siidr 3 o el @I got:
3cyfea ordl fopan s rvdr s A6 guizu A fag 3 siar

SR Peoil D 3Iclidb H, ofld fGu s1w faacul 3 A Jdt IR I wRIaT HIfsrw -
[Question ID = 3633][Question Description = S2_qSNz_PG_GP4_Q08]

Both Statement | and Statement Il are correct/wmet | 3R || gloif 2@t & [Option ID = 14529]

Both Statement | and Statement Il are incorrect/aerer | 3iiz 1l GXaii sieta & [Option ID = 14530]

Statement | is correct but Statement Il is incorrect/@erwt | 3@t 3, fbog @eret |l sieia & [Option ID = 14531]
Statement | is incorrect but Statement Il is correct/aerwr | st &, o @eret |l 3t & [Option ID = 14532]

A WN -

Correct Answer :-
e Both Statement | and Statement Il are correct/@emr | 3iz |l 2leif 3t @ [Option ID = 14529]

4) Match List | with List Il

Neural system of BrainType of Memory

A. Conscious I. Implicit Memory
B. Unconscious Il. Procedural Memory|
C. Motor skills lll. Explicit Memory

D. Own experiences [IV. Episodic Memory
Choose the correct answer from the options given below:

gl -1 @ 3 -1l A Fgafera Hifste ¢

Rxet -1 et -1l

(e @1 sxpfor Heieht deg) (gt gor)

A. Aot |, siafoifda gfer
B. 3rIdet Il. orRifaftre Fgfa
C. Oofir wlorer (e Ravezr) Il. Ioerep Fagfer
D. sircatiopia IV. JiRNBre Fgfer

oifa feu oru farsedl 9 A 8 3R gforu :
[Question ID = 3634][Question Description = S2_qSNz_PG_GP4_Q09]

A-1V,B-1ll, C-1,D - Il [Option ID = 14533]
A-1l,B-1,C-1l,D - IV [Option ID = 14534]
A-1,B-1I,C-1IV, D - Ill [Option ID = 14535]
A-11,B-1V, C-1ll, D - | [Option ID = 14536]

A w N =

Correct Answer :-
e A-IV,B-Ill,C-1,D- Il [Option ID = 14533]

5) Cognitive domain for behavioural objectives comprises which of these objectives?
A. Evaluation

B. Valuing

C. Comprehension

D. Precision

E. Knowledge

Choose the correct answer from the options given below:

RIGBRAIGI 329Ul D fe1Q JisIolcdid & 3 sof 3&9l I Aefase fopm Sirar 3 :

A. Jcaidet

B. e forerizur e
C. aa=1

D. remefar

E. sl



oif<l feu aru faedl 3 2 A3l = ol ¢

[Question ID = 3635][Question Description = S2_qSNz_PG_GP4_Q10]
1. A, Band Conly/aaa A, B, C

[Option ID = 14537]
2. B, Cand D only/@ae B, C, D

[Option ID = 14538]
3. A, Cand Eonly/aaa A, C, E

[Option ID = 14539]
4. C,Dand Eonly/aaa C, D, E

[Option ID = 14540]

Correct Answer :-
e A,/ BandConly/@ac A, B, C

[Option ID = 14537]

6) During research when we avoid speculative and metaphysical approaches and instead concentrate on studying
observable facts, it is called:

onter @ SIRIGl SId &3 MATRAHD M= difeads zftedIvll A g 3 3R YgoiRr ael uz e dfoga wd 3 al A forsoifeiRaa & A o= war siar 3

[Question ID = 3636][Question Description = S2_qSNz_PG_GP4_Q11]
1. Feminism/am3tars [Option ID = 14541]

2. Ethnomethodology/gruferfdsie [Option ID = 14542]

3. Constructionism/2izdeicamar [Option ID = 14543]

4. Positivism/forzrmcaaar [Option ID = 14544]

Correct Answer :-
e Feminism/amiarg [Option ID = 14541]

7) In research, the combination of different methods, study groups, local and temporal settings, and different theoretical
perspectives in dealing with a phenomenon is called:

fep=it uf¥arcett @ 2ider 3 PRI D WIRT 9Ne I fAfticel Uglerll, 3reRIel B! FATGA 3R AR froRI=Al & rIsTol DI Pad 8 :
[Question ID = 3637][Question Description = S2_qSNz_PG_GP4_Q12]

1. Triangulation/fggster [Option ID = 14545]

2. Content analysis/fer 2mef fasdwor [Option ID = 14546]
3. Corpus/mrda [Option ID = 14547]

4. Mediation/a@zerar [Option ID = 14548]

Correct Answer :-
e Triangulation/fegstet [Option ID = 14545]

8) Identify the CORRECT sequence of steps for the centroid method of factor analysis
A. Work out the sum of coefficients in each column of the correlation matrix

B. Compute a matrix of correlation

C. Obtain the Sum (T) of columns

D. Divide the sum of each column by the square root of (T)

Choose the correct answer from the options given below

Bacr feasaur & Do ught @ fere wcdl @ wdlayn &I usare @3 :

A. Jede dARTA D YD Pictd I VIl Bl APTwe foremret

B. Jgider @ dAfea &t svron o3

C. orcEl o1 Aeed (T) gra @2

D. gy @rctd @ Aeiwed ol (T) @ gofarer A faenfsra o2

oA R s1e Riescdl # A & a2 o

[Question ID = 3638][Question Description = S2_qSNz_PG_GP4_Q13]

1. A, C, D, B [Option ID = 14549]
2. C, B, A, D [Option ID = 14550]
3. B, A, C, D [Option ID = 14551]



4. B, C, A, D [Option ID = 14552]

Correct Answer :-
e A, C, D, B [Option ID = 14549]

9) Match List | with List Il for scale construction techniques

List | List Il

ﬁt:bitrar I. Number of individual items are developed into
y a test which is given to a group of respondents

approach

B.

Consensus |Il. Scale is developed on an ad-hoc basis

approach

C. Iltem Ill. Chosen on the basis of their conforming to

Analysis  |some ranking of items with ascending and
approach |descending discriminating power

D. .
. [IV. Panel of Judges evaluate the items chosen
Cumulative . .. .
for inclusion in the instrument
scales

Choose the correct answer from the options given below:

et -l oot 3Eh -1l A Fgafera Hifsie :

et -1 et -1

A. arefRas ||, 31cTe1-31cT9T AGT &I IR DI Up urs A fashlha s sirar 3
efdcapior Y Sazcransit & s @1 e Sirar 3

B. rdasara

Il. acef smenr uz tammar @) frasf¥ra fdvan sirar &

C. 6 fereaduvr (I, RN Siik IRl Riomrl oftp Afda @ #1ct &I gultaur
efSeplur Bl SrgIHUAr @ MER UR TRIfola

D. it IV. fereaa 3 onfdrer ol @ forg goll 318 HST DI HcAidol DIt D
Ny fere fororizranl b1 toter

oiil fSu aru fawedl 3 A A8 3R gfore :

[Question ID = 3639][Question Description = S2_qSNz_PG_GP4_Q14]
1. A-N,B-1,C-1,D-1IV

[Option ID = 14553]
2. A-1l,B-1V,C-1,D-1l

[Option ID = 14554]
3.A-1,B-1l,C-1I,D- IV

[Option ID = 14555]
4. A-IV,B-1,C-Il,D-1I

[Option ID = 14556]

Correct Answer :-
e A-IIlLB-Il,C-I,D-1IV

[Option ID = 14553]

10) Given below are two statements
Statement I: The base of the binary number system is 2.
Statement Il: Binary addition is just like decimal addition except that the rules are much simpler.

In light of the above statements, choose the correct answer from the options given below

ofla of @eret feu a1e 3 ¢
@l - | : fgamendt Jizeen yuredl o1 smenz 2 8
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JURITP Bl D 3Tl 3, ofldl f&u s1u frseul 3 A 1@ 3= @1 w61 HifSte @
[Question ID = 3640][Question Description = S2_qSNz_PG_GP4_Q15]

Both Statement | and Statement Il are true/eret | 3z || Gloil 311 & [Option ID = 14557]

Both Statement | and Statement Il are false/@erwr | 3iiz |l Staif sricr & [Option ID = 14558]
Statement | is true but Statement Il is false/@emer | 31 8, fbog weret |l s & [Option ID = 14559]
Statement | is false but Statement |l is true/eperm | sRII 8 , fboq e |l 3= & [Option ID = 14560]

A W N -

Correct Answer :-
e Both Statement | and Statement Il are true/@emwr | 3iR 11 Glell 3 & [Option ID = 14557]

11) More and more informal exchanges within a group to resolve conflicts is an example of

TpAA] DI AATEMT6l Dol B fe1e up s D MR 31ferp A 3ifre seiluiya Ge-Yglel 361601 & -
[Question ID = 3641][Question Description = S2_qSNz_PG_GP4_Q16]

Vertical communication/3eaferz 3iwur a1 [Option ID = 14561]
Horizontal communication/éiferst iguur @1 [Option ID = 14562]
Risk communication/sif3aar 2iguor @1 [Option ID = 14563]
Personal communication/dufepas 2ifwur a1 [Option ID = 14564]

A WN =

Correct Answer :-
e Vertical communication/3eaferz 2igwor @1 [Option ID = 14561]

12) Which of the following are identified as verbal communication skills?
A. Use of aggressive language

B. Assertiveness

C. Opening feedback channels

D. Taking credit for oneself

E. Use of affirmative words

Choose the correct answer from the options given below:

forgaifeiRaa 3 A1 fopardhbl usarer aifires AYWUT Biad & Hu 3 i St 8

A. JTDEID HIHT BT GRIST

B. smepfdar

C. fBIsd® @ Jolcll DI Yraeiol

D. =i ot 9 Jomr

E. FdioRIca® 9rssi @I GRIBT

il fou s1o fyeseul 3 3 & 3= goi ¢

[Question ID = 3642][Question Description = S2_qSNz_PG_GP4_Q17]

A, B and C only/a@act A, B aliz C [Option ID = 14565]
B, C and D only/dact B, C siiz D [Option ID = 14566]
C, D and E only/asaet C, D siiz E [Option ID = 14567]
B, C and E only/@ac B, C siiz E [Option ID = 14568]

A W N -

Correct Answer :-
® A, Band C only/aact A, B siiz C [Option ID = 14565]

13) Given below are two statements
Statement I: Body language is the basis of deceptive communication.
Statement Il: Non-verbal cues have their own shared meanings.

In light of the above statements, choose the correct answer from the options given below

ofi <1 Dot Ru s 3 :
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[Question ID = 3643][Question Description = S2_qSNz_PG_GP4_Q18]



Both Statement | and Statement Il are true/wmeret | 3 || Gloil 31=1 & [Option ID = 14569]

Both Statement | and Statement Il are false/@erer | 3iiz |1 @loil 3Ricr & [Option ID = 14570]
Statement | is true but Statement Il is false/®epol | 311 € , fpoq et |l sRI=r & [Option ID = 14571]
Statement | is false but Statement Il is true/epermer | sRIcI 8 , fbog @ere |l 31 & [Option ID = 14572]

A W N -

Correct Answer :-
e Both Statement | and Statement Il are true/@serwr | siiz |l Sleif 31 & [Option ID = 14569]

14) ldentify the CORRECT sequence of categories of grapevine communication
A. Cluster chain

B. Probability chain

C. Gossip chain

D. Single strand chain

Choose the correct answer from the options given below

Slelgdrc AYwor &I YR & W8 oo o usars @3 :

A. 5igg o

B. Jdstrerar gjaen

C. sru9mu 9jzaen

D. wwe ¥gis ojzac

il fou s1e fraseul 9 2 & 3a= goi ¢

[Question ID = 3644][Question Description = S2_qSNz_PG_GP4_Q19]

B, C, D [Option ID = 14573]
C, D, A [Option ID = 14574]
, C, B, A [Option ID = 14575]
D, A, B [Option ID = 14576]

A W N -

’

Correct Answer :-
e A, B, C, D[Option ID = 14573]

15) Match List | with List Il

List | List Il

Categories of communication Features

A. Lateral I. Touch communication

B. Haptics 1l. Between equals

C. Semantics Ill. Interpretation of signs

D. Semiotics IV. Concerned with meanings

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hifre

et -1 et I

(T 9)fdri) (fergrerard)

A. aiffdes |. Iiguor Faof

B. Fuof farsimer Il. Froacseil & dia FAguor
C. srefyzes I, Fiddi &bt cmsen

D. widfers IV. sreif 2 Fdfera

ofl fou o1 frseul 3 3 A IR gforw ©
[Question ID = 3645][Question Description = S2_qSNz_PG_GP4_Q20]

A-11,B-1,C- IV, D - Il [Option ID = 14577]
A-1ll,B-1I,C-1,D- IV [Option ID = 14578]
A-1V,B-1ll, C- I, D - | [Option ID = 14579]
A-1,B-1V,C-1ll, D - Il [Option ID = 14580]

A W N -

Correct Answer :-
e A-Il,B-1,C-1V,D-Ill [Option ID = 14577]

16) What comes next in the following sequence?

8,6,4.5 3.5, ___

8, 6, 4.5, 3.5 @ 3G i I Dlol-AT 3D BB ?



[Question ID = 3646][Question Description = S2_qSNz_PG_GP4_Q21]
1. 1/1 [Option ID = 14581]

2. 2/2 [Option ID = 14582]

3. 2.5/2.5 [Option ID = 14583]

4. 3/3 [Option ID = 14584]

Correct Answer :-
e 1/1 [Option ID = 14581]

17) X has one and a quarter times as many as Y, and Z has one and a quarter times as many as X. Altogether, they have 61.
How many do Z, Y and X have, respectively?

X @ ura Y o1 3141 36l 3 3R Z @ UurRd X oI a1 3ol 3 3 Wl & ury afdafera su A 618 Z, Y 3iir X & urt gAA9r: fodor 3 ?
[Question ID = 3647][Question Description = S2_qSNz_PG_GP4_Q22]

25, 16, 20/25, 16, 20 [Option ID = 14585]
20, 16, 12/20, 16, 12 [Option ID = 14586]
25, 20, 16/25, 20, 16 [Option ID = 14587]
16, 20, 25/16, 20, 25 [Option ID = 14588]

A WN =

Correct Answer :-
e 25,16, 20/25, 16, 20 [Option ID = 14585]

18) Showing the man in a photo, Kavita said, "He is the brother of my uncle's daughter”.

How is the man realted to Kavita?

U BIcl 3 U AfRb @l G gu ofddr of @al, a6 3R arr &l 9¢l @I H1E 3 3A AP A Diddr @I o= f¥ear 3 ?

[Question ID = 3648][Question Description = S2_qSNz_PG_GP4_Q23]
Nephew/sidftsm [Option ID = 14589]

Cousin/adRr a1 (@fSter) [Option ID = 14590]

Uncle/arar [Option ID = 14591]

Son /g [Option ID = 14592]

A W N -

Correct Answer :-
e Nephew/sredts [Option ID = 14589]

19) Given below are two statements
Statement I: In one minute, the minute hand of a clock gains 5° over the hour hand.

Statement IlI: If both the minute and hour hands start moving together from the same position, both the hands will coincide
after 64 minutes.

In light of the above statements, choose the correct answer from the options given below

ofi <1 Dot Ru sme 3 :

®eel - | : v frore 3 et Slar a3l & Broie &1 J3, @ B JF A 5° e 96 oIl 3

ool - | @ afe Biete 3l @R &t Jgsaf v & Rrerfer 3 3mE) agon 9s @l T Al el Izt 64 Bioie arc v, g A Ricikh
JURITP el @ 3MIelid 3, ofidl f&u s1u fraseul 3 A JEl AR @1 wIol HifSte @

[Question ID = 3649][Question Description = S2_qSNz_PG_GP4_Q24]

Both Statement | and Statement Il are true/emr | siz |l Gleil 21 & [Option ID = 14593]

Both Statement | and Statement Il are false/@emr | 3iiz |1 Gloil 3Rt & [Option ID = 14594]
Statement | is true but Statement Il is false/@erme1 | a1 8 , fpoq @eret |l sRi=r & [Option ID = 14595]
Statement | is false but Statement Il is true/memwr | sRicr 8 , fbog @eret || A= & [Option ID = 14596]

A W N -

Correct Answer :-
e Both Statement | and Statement Il are true/emr | aiz |l Gleil a1 & [Option ID = 14593]

20) Consider the following statements:
A. A single discount equivalent to three successive discounts of 10%, 20% and 25% is 46%
B. A mobile is sold for 14500 at a loss of 20%. The cost price of the mobile is 18225.

C. If the loss is % of the selling price, the loss percentage is 28%

Choose the correct answer from the options given below:



FafaRad eyl R ffER &

A. T SR H g1 713 46% B e, dH IR H &1 715 10%, 20% 3R 25% Fel & R 3

B. U HIdI5d ®I 20% @1 814 UR 14500 ¥ H 91 SI[dl &, HiGmd &I aFld Hed 182255 8
D.afG o, g g ot 1 Al eiH 28% ©

il fu U fydedl & € W81 S I :

[Question ID = 3650][Question Description = S2_qSNz_PG_GP4_Q25]
1. A and B only/dact A siiz B [Option ID = 14597]

2. Band C only/dact B aiiz C [Option ID = 14598]

3. Aand C only/dsaer A siiz C [Option ID = 14599]

4. A only/dacer A [Option ID = 14600]

Correct Answer :-

e A and B only/daer A siiz B [Option ID = 14597]

21) In the context of uses of language, which of the following is the fallacy that pertains to the relationship between a
person's beliefs and his circumstances?

forgsiferae 31 3 Blel-AT a® I 3 il AP D Rreardl sk uff¥aferil @ i Jider ol b @ 3

[Question ID = 3651][Question Description = S2_qSNz_PG_GP4_Q26]
Argumentum and Baculum (force)/smejdicat vs dqca (o1fcp) [Option ID = 14601]

Argumentum ad Hominem (circumstantial)/smfdicar &s aifdomr (uf¥fRefersioa) [Option ID = 14602]
Argumentum ad Ignorantiam (ignorance)/smjdicat s seoiidfeRral (3rstorar) [Option ID = 14603]
Argumentum ad Verecundiam (authority)/smjdicar ss¥@fEe (qifer) [Option ID = 14604]

A W N -

Correct Answer :-
e Argumentum and Baculum (force)/smsjdica s dqeta (oifep) [Option ID = 14601]

22) If 'Some members are not voters' is false in a square of the opposition of proposition, which of the following code can
be correctly picked

A. 'All members are voters' is false
B. 'Some members are voters' is true
C. 'All members are voters' is true
D. 'No members are voters' is true

Choose the correct answer from the options given below:

a® arall @ KGRI gt 3 Al "oB e Adear oidl ' 3RI 3, dl forvoiferRaa 3 A b1 de DI A8 Ael ST ADdrl 8
A. "mft e FAqcIn ' 3RICA &

B. "@© IcTa Aqedr 3 AcA &

C. "3l A6 AqcIan &' Aca

D. "®I$ AAcTa Adacr oidl &' wea &

il fou s1u fyeseul 3 21 & 3a= goi ¢

[Question ID = 3652][Question Description = S2_qSNz_PG_GP4_Q27]

A and D only/dbaet A siiz D [Option ID = 14605]
A and B only/dact A siiz B [Option ID = 14606]
B and C only/dsaet B siiz C [Option ID = 14607]
C and D only/aaet C 3fiz D [Option ID = 14608]

A WN -

Correct Answer :-
e A and D only/dae A siiz D [Option ID = 14605]

23) Which of the following codes correctly represents the figure and mood of the argument?
All businessmen are self-confident

No self-confident men are religious

Therefore, No religious men are businessmen

Choose the correct answer from the options given below



forgatferRaa wiol-A1 ¢ awaraT @ IBR 3R YBR Bl A8 U I YIdd or 3 ¢
eft camurd) sirea-farh Aa 3
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[Question ID = 3653][Question Description = S2_qSNz_PG_GP4_Q28]
1. AEE - |

[Option ID = 14609]
2. AEE -1l

[Option ID = 14610]
3. AEE - Il

[Option ID = 14611]
4. AEE- IV

[Option ID = 14612]

Correct Answer :-
e AEE - |
[Option ID = 14609]

24) The knowing self knows objects through the instrumentality of the sense organs (Indriyas) but the existence of Indriya
is proved by

Sire sfogal &l FerIar A Ul @ R 3 SR id ol & sfogal @I sil¥dea ggnfora o sitar & foraot 31 2 fpadd @Rt &

[Question ID = 3654][Question Description = S2_qSNz_PG_GP4_Q29]
1. Anumana Pramana/sfepstie goimr g1 [Option ID = 14613]

2. $Sabda pramana/sres ggmr grer [Option ID = 14614]

3. Arthapatti Pramana/sterfufer grer [Option ID = 14615]

4. Upamana Pramana/3udiiel yaamr gri [Option ID = 14616]

Correct Answer :-
® Anumana Pramana/sigjeret ggimvr gt [Option ID = 14613]

25) Which form of knowledge is NOT derived through the instrumentality of other knowledge?

Sifol @ b3 TaaU Bl 3161 Siiel bl ASRIAT A Y o181 g Sirer 3

[Question ID = 3655][Question Description = S2_qSNz_PG_GP4_Q30]
Perception/yeret [Option ID = 14617]

Inference/ st [Option ID = 14618]

Word-testimony/9reg ysir [Option ID = 14619]

Comparison/3udtet [Option ID = 14620]

AW N =

Correct Answer :-
® Perception/ygret [Option ID = 14617]

26) In respect of computer software, features of a typical operating system include:
A. The interface-allowing communication between the user and the computer

B. Memory management-allocating internal memory (RAM) to programs and data in use and retrieving and storing data on
the external memory devices

C. Resource handling-controlling peripheral devices (input and output devices) and handling user requests for peripheral
devices

D. Internet access-providing connectivity to the services on the Internet

Choose the correct answer from the options given below:

PRI ATTedsrR @ Hder 3 fpl yfeforfiie smRfésr Rrca &t fadruarsii 3 fearfeRaa onfirer 3 3
A. & $caBa - YRIPT 9 BRI D dia AYHUT 6 sregdfer Sar 3
B. d31dl yderotr - gileT 3l 3@ Qiofmil 3iiR sticps] o fere sifes dAaId) (3= € war) b1 sirdeo SR arar A SarsAA Uz stipst bl gor:yufr
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C. Jneretr FAvrctoll - ufsel 3arsl (so1ge a 33cye 3arsA) @l forifed @l a ufvdRn SarsHl @ fo1e g™l sroRlell Pl AHIcToll
D. scvole uga - $eolc U= AAnil & RRI Aud ygrel wel

il fou s1e freseul 9 2 & Ia= goi ¢

[Question ID = 3656][Question Description = S2_qSNz_PG_GP4_Q31]

A, C and D only/dsaet A, C siiz D [Option ID = 14621]
B, C and D only/a@act B, C siiz D [Option ID = 14622]
A, B and C only/d@act A, B siiz C [Option ID = 14623]
A, B and D only/@aet A, B aiiz D [Option ID = 14624]

A W N -

Correct Answer :-
e A, Cand D only/dact A, C siiz D [Option ID = 14621]

27) Match List | with List I

List | List Il

(Description) (Appropriate Technical Term)

A. Authoring language used to create
documents to be viewed on the World |Il. Browser
Wide Web

B. Computer that responds to requests
to provide information and services Il. HTTP
over the Internet

C. Defines how messages are
transmitted and formatted over the lll. HTML
Internet

D. Software that enables users to
access/view documents and other IV. Internet server
resources on the Internet

Choose the correct answer from the options given below:

et -1 B e -1l A e i

et -| e -l

(fera=zon) (Suged awelldl us)
A. Stadic Felrel @ feru cisdsl fermon PRI acs arss |

a9 UT 33T SIY -
B.mmw@ﬁmﬁﬁam&Qmamleaﬁm

(DI IR ol dIcl PRICT

C. scrolc WR giRifdic wd widie dol arc FRISIST dI i a

Foarf . TA.ALuA.ue.
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Bz g1? JAIerGil DI YaIA/ S0l D A Folidl B

il fou s1e fyseul 3 I A8 IR o ©

[Question ID = 3657][Question Description = S2_qSNz_PG_GP4_Q32]
1. A-llLB-IV,C-I,D-1

[Option ID = 14625]
2. A-1,B-IV,C-1I,D- 1l

[Option ID = 14626]
3. A-IV,B-lIl,C-1,D-1I

[Option ID = 14627]
4. A-11,B-1V,C-1I,D-1

[Option ID = 14628]
Correct Answer :-
e A-lILB-IV,C-1,D-1I
[Option ID = 14625]

28) Arrange the following optical storage devices in decreasing order of their storage capacity



A. DVD
B. CD-ROM
C. Blu-Ray

Choose the correct answer from the options given below

TSI DUARIKE & Ted o 3 Plifted IR Raskt @ =af¥ea bifse:

A. ddtd.

B. i3 - 3o

C.s13

offa fou s1u fRyeseul 3 21 & 3a= goi ¢

[Question ID = 3658][Question Description = S2_qSNz_PG_GP4_Q33]

C, B, A [Option ID = 14629]
C, A, B [Option ID = 14630]
B, C, A [Option ID = 14631]
A, C, B [Option ID = 14632]

A WN -

Correct Answer :-
e (C, B, A [Option ID = 14629]

29) Given below are two statements
Statement I: An operating system controls peripherals, and allocates memory and processor time.
Statement IlI: An operating system provides Internet access.

In light of the above statements, choose the correct answer from the options given below

ofil &t perer Ru sme 3 :

@erel - | @ v sifaefest Rivear aftdzcar @l forafoqa @ear 3, 3iik AR 3fi YRR AR DI Mol BT &
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SWRID Poll D 3Mrclld #, ofld 3w 31w frapedl 3 A A8 Ia? @1 wrI6t HifSte :

[Question ID = 3659][Question Description = S2_qSNz_PG_GP4_Q34]

Both Statement | and Statement Il are true/eret | 3z || Gloil 311 8 [Option ID = 14633]

Both Statement | and Statement Il are false/@ermr | 3iiz || Staif sRicer & [Option ID = 14634]
Statement | is true but Statement Il is false/@erwer | 311 8, fbog weret |l sRicr & [Option ID = 14635]
Statement | is false but Statement Il is true/memwr | sRic & , fboq et || A= & [Option ID = 14636]

AW N -

Correct Answer :-
e Both Statement | and Statement Il are true/@emwr | 3iR 11 Gloli 31 & [Option ID = 14633]

30) Which of the following is the appropriate GUI (Graphical User Interface) component used to select one from multiple

alternatives?
forgotifepe 3 21 Blol WP SHLA3ME. (S|fbopet IR scawa) acd 3 Sl §g Ripedl 3 A v Bl golol 3 GRIII fop=n St 3

[Question ID = 3660][Question Description = S2_qSNz_PG_GP4_Q35]
1. Scroll bar/¥@jet @z [Option ID = 14637]

2. Push button/ger @cot [Option ID = 14638]

3. Progress bar/qwt arz [Option ID = 14639]

4. Radio button/3fS=r acar [Option ID = 14640]

Correct Answer :-
e Scroll bar/¥®fet ar [Option ID = 14637]

31) Which one among the following diseases is NOT caused due to exposure to ultra-violet radiation?

forgaiferRaa 3 3 Dlol-AT ABT URT Jorell AT Ysiiae! @ BRI o1&l alar & ?

[Question ID = 3661][Question Description = S2_qSNz_PG_GP4_Q36]
1. Bronchitis/earierctt oiter [Option ID = 14641]

2. Melanoma/demiian [Option ID = 14642]

3. Ocular damage/%iq gifer [Option ID = 14643]

4. Erythema/ca@fepar [Option ID = 14644]

Correct Answer :-
e Bronchitis/carorcft ofter [Option ID = 14641]



32) Match List | with List

List | List Il

Class of water Example/Explanation

pollutants

A. Disease-causing I. Organic wastes decomposed by aerobic
agents bacteria

B. Oxygen depleting

Il. Acids, salts, compounds of toxic metals
wastes

C. Inorganic plant

R lll. Bacteria, protozoa, worms etc.
nutrients

D. Water-soluble IV. Water-soluble nitrates and phosphate cause
inorganic chemicals |excessive growth of algae etc

Choose the correct answer from the options given below:

et -l oot 3 -1l A Fgafera HifSre :

et -1 et -1l

STcT ggudl I asf 31801 / IRSAT

A. AoISIoID DPRD |. argeidl Sflary gr1 fdafea oo srufdrse
B b et Il. 3mFct, crqur, D emqgail @ ARt

srafdrse

;'ﬁtﬁma\” 1. Sftaroy, yofiarwy (Gidsisn ol scnfe

D. Stet 3 gerorofier IV. Stet & gererofier omrsee 3k wivwe dare senfe
IepTeifored RIS bt arfer gfy @ 3

il f3u o1 fyseul 9 A At IR gfom :

[Question ID = 3662][Question Description = S2_qSNz_PG_GP4_Q37]
1. A-1,B-IV,C-1l,D-1I

[Option ID = 14645]
2. A-1L,B-1I,C-1,D-1V

[Option ID = 14646]
3. A-NLB-1,C-1V,D-1l

[Option ID = 14647]
4. A-IV,B-1I,C-1I,D-I

[Option ID = 14648]

Correct Answer :-
e A-I,B-IV,C-1l,D-1

[Option ID = 14645]

33) Given below are two statements
Statement I: Nitrification results in an increase in effluent ammonia toxicity
Statement II: Denitrification reduces nitrate to nitrogen gas using bacteria

In light of the above statements, choose the most appropriate answer from the options given below

ofid &1 peror Ru sme 3 :

@l - | : afd:3ra &t spEiforn fRuarpar # giy ssdiaur o1 ufyvme 3

Dol - || : Remsdiavr # Siarvy oI geT @2 olis¢e Pl olisglslol 311 3 JUaR[ @ &
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[Question ID = 3663][Question Description = S2_qSNz_PG_GP4_Q38]

Both Statement | and Statement Il are correct/eret | 3iiz || Sloil 26t & [Option ID = 14649]

Both Statement | and Statement Il are incorrect/@erwer | iR 1l el sieta & [Option ID = 14650]

Statement | is correct but Statement Il is incorrect/@emt | 31t 8, fpoq et |l sieta & [Option ID = 14651]
Statement | is incorrect but Statement Il is correct/emt | sci & , feboq et |l 2@ & [Option ID = 14652]

A wWwN -



Correct Answer :-
e Both Statement | and Statement Il are correct/wmemwr | iR |1 Gloll 28 & [Option ID = 14649]

34) Flotation is a unit operation, used in wastewater treatment to
A. Remove the lighter suspended solids

B. Concentrate biological sludge

C. Remove oil and grease

D. Remove the temporary hardness of the water

Choose the correct answer from the options given below:

Teldol Qeb $pI$ fipar & a1 surilel 3rufdrse Siel A d=Ir g ol 3 v Sirar 3:
A. sltfa frecifdre a1 ucrelf ol ser 3

B. J1ig Sifdhir sme Hlas @ fere

C. de 3iiz 3ff=1 (3ffsr) @t sere 3

D. Ste1 @ 3Rl BoRAr Bl seral i

ofid fou o1 el 3 A A8t STz gt ¢

[Question ID = 3664][Question Description = S2_qSNz_PG_GP4_Q39]

A, B and C only/d@act A, B siiz C [Option ID = 14653]
B, C and D only/a@ae B, C sfiz D [Option ID = 14654]
A, B and D only/dact A, B 3iiz D [Option ID = 14655]
A, B, Cand D/A, B, C siiz D [Option ID = 14656]

A W N -

Correct Answer :-
e A, Band Conly/dact A, B 3iiz C [Option ID = 14653]

35) Match List | with List I

List | List Il
Ozone depleting substanceName

A. C3HF7 I. HCFC
B. C2FH;3Cl; Il. Halons
C. C2F4Cl; Ill. HFC
D. CF3Br IV. CFC

Choose the correct answer from the options given below:

et -1 1 g -1l A @i Hife

Rpet -1 oreht -
silsilol erf¥a ucref e

A. C3HF7 I. HCFC
B. C2FH;3Cl; Il. 3cticaa
C. CoF4Cl3 lll. HFC
D. CF3Br IV. CFC

oiil feu aru famedl 3 A A8 3R gfore :
[Question ID = 3665][Question Description = S2_qSNz_PG_GP4_Q40]

A-1,B-1ll, C-1I,D- IV [Option ID = 14657]
A-1ll,B-1,C-1V,D- Il [Option ID = 14658]
A-11,B -1V, C-1ll, D- | [Option ID = 14659]
A-1V,B-1l,C-1,D-lll [Option ID = 14660]

A WN -

Correct Answer :-
e A-I,B-Ill,C-Il,D-IV[Option ID = 14657]

36) The country which has the highest number of higher education institutions is:

ag oI SIel Uz Sca g Izerreil &I Jaiféres Ficar 3 :

[Question ID = 3666][Question Description = S2_qSNz_PG_GP4_Q41]
1. India/ema [Option ID = 14661]

2. China/dfer [Option ID = 14662]

3. USA/guau. [Option ID = 14663]

4. Russia/za [Option ID = 14664]

Correct Answer :-



e [ndia/smea [Option ID = 14661]

37) Arrange the following in chronological order of their occurrence
A. Hartog Commission

B. Sadler Commission

C. Macaulay's Minutes

D. Sargent plan

E. Wood's Despatch

Choose the correct answer from the options given below

forgaiferRaa Y So1d> 3106l WA PICTHAGRIR afded Hifsre

A. BIcher 3mRIeT

B. JAscR ARIET

C. Jora origa (Brercr)

D. wrsic Aison  (tetrer)

E. gs B3

il fou s1e fyaseul 9 31 W& 3a= goi ¢

[Question ID = 3667][Question Description = S2_qSNz_PG_GP4_Q42]
C, E, A, B, D [Option ID = 14665]

C, E, B, A, D [Option ID = 14666]
C,E,B

G, B, E

B
A

, D, A [Option ID = 14667]
A, D [Option ID = 14668]

)

A W N -

>

Correct Answer :-
e C,E, A B, D[Option ID = 14665]

38) Which of the following are NOT statutory bodies?
A. NAAC

B. NMC

C. NCERT

D. AICTE

E. NCTE

Choose the correct answer from the options given below:

forgotferfRaa 3 A wlar A Aifafis fororr 3 :

A. NAAC

B. NMC

C. NCERT

D. AICTE

E. NCTE

il f3u a1 fraseul 9 A W& 3= goi ¢

[Question ID = 3668][Question Description = S2_qSNz_PG_GP4_Q43]

A and B only/dact A siiz B [Option ID = 14669]
C and D only/dsaet C siiz D [Option ID = 14670]
A and C only/@act A siiz C [Option ID = 14671]
D and E only/a5aet D siz E [Option ID = 14672]

A w N =

Correct Answer :-
e A and B only/@aet A 3iiz B [Option ID = 14669]

39) UGC is established for:
A. Promoting research and innovations in higher education in the country
B. Coordination, determination and maintenance of standards of university education

C. Increasing access to higher education in the country



D. Disbursing grants to the universities and colleges
E. Serving as a vital link between the Union and State governments and institutions of higher learning

Choose the correct answer from the options given below:

3 St 2ft I Ferruen o Foa D e g5 3 ?

A. Zor 3 Ica e 3 siopRiend ik staydcdsll &l aerar Jolr

B. farafdemcrit f31gmr @ eIl ®I WIoarIal, forerzur siiz Sxasmar

C. Tor 3 Ica fAren as uga ! aGTeln

D. frafdencril siiz Bicisil B Mogloll @I [T well

E. 3= aen Isa IRERI SR Iaa fOren siffenr el & dia dstayvl ot & wu 3 Aar Ygrel Bt
il f3u a1 fraseul 9 A W) IR BT TRl HIRdIE ©

[Question ID = 3669][Question Description = S2_qSNz_PG_GP4_Q44]

1. A, Cand E only/daet A, C 3iiz E [Option ID = 14673]
2. A, B and C only/aae A, B siiz C [Option ID = 14674]
3. A, B, Cand D only/daer A, B, C 3iiz D [Option ID = 14675]
4. B, D and E only/a@act B, D siiz E [Option ID = 14676]

Correct Answer :-
e A, CandE only/aact A, C siiz E [Option ID = 14673]

40) Match List | with List Il

List | List Il

A. AICTE |l. Promotes research in Philosophy

B. ICHR [ll. Promotes research in History

C. ICPR [lll. Promotion of quality in Technical Education
D. ICSSR |[IV. Promotes research in Social Sciences
Choose the correct answer from the options given below:

et -1 1 g -1l A g Hife

et -1 et <11

A. AICTE |. Gofetoney # 3rolRieiTel DI dGTol

B. ICHR Il. sfererar 3 srogienet o aGlel

C. ICPR Ill. aoofichl forgm &bt spuTarr I derar Joi
D. ICSSR V. senfore sl 3 sefRiene ol delel

i) feu a1u faasedl 3 A 8 3R gforu :
[Question ID = 3670][Question Description = S2_qSNz_PG_GP4_Q45]
. A-Ill,B-1l,C-1,D-1V[Option ID = 14677]

-1, B-1I,C-1V, D - | [Option ID = 14678]

1

2. A

3. A-Il,B-1Il, C-1,D- IV [Option ID = 14679]
4. A-1IV,B-1Il,C-IlIl, D-1[Option ID = 14680]

Correct Answer :-
e A-IIl,B-IlI,C-1,D-IV[Option ID = 14677]

Topic:- GP_20NOV_C_SH2

1) Read the given passage and answer the questions that follow

Social exclusion is a multi-dimensional concept conceived to capture different aspects of social disadvantage-economic,
social, political and cultural-that exist in multiple variations across nations. Stripped to its essence, the term focuses on the
groups excluded in economic, social and cultural terms as well as on the mechanisms that work to relegate them to the
status of social outsiders. Originating mainly in the writings of French sociologists, the concept is receiving growing scholarly
attention in Western Europe. The emergence of the term, in fact, reflects an attempt to reconceptualise the changing
nature of social disadvantage in post-industrial societies in the face of major technological change and economic
restructuring. The West, for example, has been experiencing an intensifying process of social integration that is occurring
because of long-term unemployment, increasing migration and the rolling back of the welfare state. Consequently, new
vulnerable social groups have been emerging and are labelled in different ways: ‘the new industrial poor’, 'immigrants’,
‘ethnic groups’, 'single parents’, among others. Interest in social exclusion has grown in relation to the growth of new social
problems in the west. Two important issues are worth considering here. First, does the concept add anything new which
cannot be provided by analysis within a more conventional framework of, say, poverty, inequality, deprivation and so on.
Second and more important, can this concept be extended beyond a European perspective to a development setting? Can it



be exported from the North to the South, from a situation where the majority are well-off to a situation where the majority
are poor? Clearly, a great deal of attention has been paid, in development analysis, to related issues such as poverty,
inequality, deprivation, entitlements and capabilities.

3 31U srEni9r @I U iR ofid f$u 3w gl & 3= ¢ ¢

ATHISID SfECPR U §g - RGN 3raemRun 8 Sii AFgui Sor 3 fafaer wul 3 siaradret i, APIRIE, ASEiie iR ARGIID - AP
DRIl @ faftioot uscysil oI AdAIase Dol DI TRV & $AD Acd D fe1e el §U; AB 9056, Iol AHI Sl Mffp, AHIRIPG IR ARDID WU A
afdcma APl UR eArel DIGA DI 3 3R AT & Az 9166 AHIRID WU A d183t Izl B Jorchl F-erfer A ars2 formictol @1 BRI B2l ard ddq U2
€110 DI DA 3 BiA D TSl INRGAI D Al H PR U Igd A8 JALIRUN Ui R 3 a6d gu U d RIsrell @1 &aret Y &2 3 & 33
9rec bl 3eufer, araa I Pz dwolidl gear 3R snffe gerizasi @ e 3R - NP AT d AHIRID Dl D Joeld Fasu DI
Yol3[AENRUII Sollol @ U YRIRT DI Yaidia oxdl 3 3crsur @ fere ulkme Arenfore fRravse & wos aolise sicl gfigan o s 2 @I 3 St
sAfeIe 31 26T & aRIIfs asi cid FIRT Bl ASPIEL, TGAT AYARIGT 3T BCANKPEI I A WS seol &I sifcfaf?ril urfl s 28 & wearasu o=t
el ARNRIB APE! BT 35d Al W 3 3R A gl @ dfa 3 fafdiost wu 3 =6l s 3; ot siienfere a1fle’, ‘srgarRil’, ‘ofeidl A3E’, 'vwa
siftrra’ affaw A oRi AP A= o gy D Ade I AP afdvor 3 wRI a6 Rl 3 As! 31 HeTayul g Feuaare kR D F gea
TRIT S[AEIRVI 3 oRIT 9Nf3ret Il 3 Sl fedwuT GRI siéidl, 3RIIeIdl, ddel SIfS @ SIA e URURPIA BAAMD I dad ofdl Yglol fasam i
ADAl GIRI 3R 3uferp AsTayvl, b o= 321 sraeRvn @I PRIk uf¥geRn A f[ert craven (Afcer) @ sifefy fraiiya fepan st aden ? o= a8
IR Bl B A <31 Gt = S Aden, v Wt Refer Rrml agizsae et acft 3 31 v ¥l Refer Rl agizsre et si¥lq @ ? Fuse U
3 SRNdl, 3RIATGIAL, ddol sberl 3R rEIATl ardl Hdf2ia Fei R fmrRT irauvr 3 *mue Fu A &« $ar srr 3

The concept of social exclusion is multidimensional because of:

ATHISID SfEDR Dl IJGEMRUI b DRI A Jg3IRIeE 3 :

[Question ID = 3671][Question Description = S2_qSNz_PG_GP4_Q46]

1. multiple groups to focus on/fifder el we fga [Option ID = 14681]

2. variations in deprivations/dden @ Fawu 3 fieorar [Option ID = 14682]

3. the prevalent notion about social outsiders/mnfSis ¥u 3 aEst el & ar 3 yaferd s@ervn [Option ID = 14683]
4. social statuses across nations/2iguf Sor 3 JmnfSrp Rerfer [Option ID = 14684]

Correct Answer :-
e multiple groups to focus on/fafe wEl e dfga [Option ID = 14681]

2) Read the given passage and answer the questions that follow

Social exclusion is a multi-dimensional concept conceived to capture different aspects of social disadvantage-economic,
social, political and cultural-that exist in multiple variations across nations. Stripped to its essence, the term focuses on the
groups excluded in economic, social and cultural terms as well as on the mechanisms that work to relegate them to the
status of social outsiders. Originating mainly in the writings of French sociologists, the concept is receiving growing scholarly
attention in Western Europe. The emergence of the term, in fact, reflects an attempt to reconceptualise the changing
nature of social disadvantage in post-industrial societies in the face of major technological change and economic
restructuring. The West, for example, has been experiencing an intensifying process of social integration that is occurring
because of long-term unemployment, increasing migration and the rolling back of the welfare state. Consequently, new
vulnerable social groups have been emerging and are labelled in different ways: 'the new industrial poor’, 'immigrants’,
‘ethnic groups’, 'single parents’, among others. Interest in social exclusion has grown in relation to the growth of new social
problems in the west. Two important issues are worth considering here. First, does the concept add anything new which
cannot be provided by analysis within a more conventional framework of, say, poverty, inequality, deprivation and so on.
Second and more important, can this concept be extended beyond a European perspective to a development setting? Can it
be exported from the North to the South, from a situation where the majority are well-off to a situation where the majority
are poor? Clearly, a great deal of attention has been paid, in development analysis, to related issues such as poverty,
inequality, deprivation, entitlements and capabilities.

&2 a1U srEnor @Y ug iR ofid 3w a1e Yesil B IR S ¢

AP Jf3ePR U §g - RIE sraenzvn 3 it Aegul Sor 3 fafeer wul 3 sidaraarst e, ARG, ISl ik ARl - Ao
DfrIl @ faf¥cor uscysil @l Afase dol Bl gRUI & $AD Acd D ferw Wl gu; As 916, Iol AP il snffo, AP MR Arpiad wu A
qfdcayd APl UR &A1l DIGA DT 8 31 ATA 8l As 9166 ATHIRID WU A d1831 clIsll DI Jorhl R-e1fer A q182 formIctol oI BRI w2l ard dd U
&2Tol DIGA DA 3 BiA D HATSl ARAI D ¢l A JIR 31U Igd A8 ARV Ul JRIU i 966 gu wU d fASTell DI &ar6l Yrd @2 Wl & 53
9rec bl Ieufer, araa 3 IR awolidl dca 3R nffe gerRizae @ dacd 3R - MENBRD A 3 ANRIP Bl D Joekd FasU DI
Yol3IaemRuIl Sellel & U JRIRT Dl Yoldfa ol 3 3erseur & fere ufkier amenfores foravsa & v gofleya SXdl gfipzm o1 sigpsia @2 a1 3 Sit
gAferg 3 61 3 Wilfs dal cd FIrRT Gt RASEIE, Gl FYARTT 317 BeAIBH AT A D sear G sififaferi urfl s @6 2 Gazanu oY
HNE ATHIRID BT DT 35 8l Wl 3 3R d GIRI D dia 3 fAafdioet 4 3 Sirel S 3; 'ofd SHENRp s, 'siyaril’, 'gfsircdl 39s’, "vda
sftpmas’ a2 3 orft ARnfire A=l & gig D Ade 3 Aie a¥ver 3 =R 96 Rt 3 A&T 31 swevagul I Icrars AR & 3 gear
AT ARV 3 GRIT 9Nf3ret SIar 3 Sil feauuT GRI si8idl, 3RI9IIeIdr, ddel sIfS @ S 3If2[d URURPIA BHAMm B dad ofdl Yglol fdpar i
ADPAl GIRI 3R 3fp Aecayvl, 6 o= $21 sr@ervn @I IR uf¥ggRn A erT craven (Afeer) o siferfye fraifya fopn st aden ? o= a8
IR Bl aE A cfer Gt = S Aden, v ¥l Reafer Rrml agizsra diet eofl 3 3 v ¥l Refer Rrml agizsas et si¥lq al ? Fuse U



A oRIdl, 3RTHATeIAl, ddel el 3R graarsii arcl Hdfea el uR PRI Rreaduur # U WU A &arel 6 sri 8

The new reflection on social exclusion has emerged from

ATHISID SfSPR UR old - Ridfol @8l A Icdool 3T 3 ?

[Question ID = 3672][Question Description = S2_qSNz_PG_GP4_Q47]

1. The industrialisation process in Europe/z3u 3 sffeisftaszur gfdgen [Option ID = 14685]

2. The arrival of new scholarship in sociology/3mwirstone 3 ol uif$r (IPIeRSM) @I smEet [Option ID = 14686]
3. The technological impact on societies/misi w2 dwafidt gsrra [Option ID = 14687]

4. The changes in the nature of social inclusion/mefSics Jerdorer @ Fazu 3 ggera [Option ID = 14688]

Correct Answer :-
e The industrialisation process in Europe/3RIu i sielsfias2ur gfegan [Option ID = 14685]

3) Read the given passage and answer the questions that follow

Social exclusion is a multi-dimensional concept conceived to capture different aspects of social disadvantage-economic,
social, political and cultural-that exist in multiple variations across nations. Stripped to its essence, the term focuses on the
groups excluded in economic, social and cultural terms as well as on the mechanisms that work to relegate them to the
status of social outsiders. Originating mainly in the writings of French sociologists, the concept is receiving growing scholarly
attention in Western Europe. The emergence of the term, in fact, reflects an attempt to reconceptualise the changing
nature of social disadvantage in post-industrial societies in the face of major technological change and economic
restructuring. The West, for example, has been experiencing an intensifying process of social integration that is occurring
because of long-term unemployment, increasing migration and the rolling back of the welfare state. Consequently, new
vulnerable social groups have been emerging and are labelled in different ways: 'the new industrial poor’, 'immigrants’,
‘ethnic groups’, 'single parents’, among others. Interest in social exclusion has grown in relation to the growth of new social
problems in the west. Two important issues are worth considering here. First, does the concept add anything new which
cannot be provided by analysis within a more conventional framework of, say, poverty, inequality, deprivation and so on.
Second and more important, can this concept be extended beyond a European perspective to a development setting? Can it
be exported from the North to the South, from a situation where the majority are well-off to a situation where the majority
are poor? Clearly, a great deal of attention has been paid, in development analysis, to related issues such as poverty,
inequality, deprivation, entitlements and capabilities.

3 31U srenier o U iz ofid 3w a8 gl & 3a 3 :

ARNRS afdveR udb a3 - RIE sraemun 3 Sl Ayt Sor i fafaer wul 3 si¥awaaret snféfe, A, IsHife ik Argie - apnie
oIl @ fafiteet uscysil o AAMate Dol DI RV F $AD Acd D fe18 WA gu; AT 9Ieg, Iol APl Sil nffd, AMMSID 3z ATpias wu A
i3t AP UR €A1l DIGA DT 3 1R AT F A5 9166 ATHIRID 39U A d1831 clIvll DI Jorhl R-2fer A d182 formIctol I BRI w2l ard e U
€110l DIGA DA 3 BiA D AATSl INRAI D ol A PR 34 Igd AB ARV UK IR A 96 gu 39U d [AISIell DI &a16l Y @2 Wl & A
9166 I Ieufe, drdd I JIRT dAdoiidl deelid 3R MM Yoriwrell @ ek IR - MENRBID AATST d ATAISID DIl D Seeld FaBU DI
Yol3IaeRuIl Sollol @ U YRR Dl Yoldia ol 3 3orseur & fore ufkin Amenfsres foravsa & v goflspa aXdl gfdpzn ot sigpsia @2 T 3 Sit
sAferg 3 261 3 wilfs dal cd JIrRT G RISEIE, Gl JYARIH 3R BeANIGH IS A Wi seal Gl siftifaffril uril sir @ 2 Bazaeu o)
eI ARNRIG APl DI 3gd 3l W & 3R I Rl @ o 3 fafficst U 3 sie! S 3; 'oa siienfre si¥la’, 'srgarfl’, 'ofsirdl J31E’, "vba
siffiraes’ uftaa 3 oril ArnfSie AaFEl © gly @ Ada A Ao advmr 3w 96 skl 3 ST 31 Asvagul #g Jeaaret R & 3 yaa
TRIT 3[AEIRYI 3 GTIT 9NfIICT I & Sl [PSHUT GRI SR, RIAIEIAl, ddel SIS @ il 2D URURPIA BHAMm D dad olél Yglol bt St
IADAT GIRI 312 2D Fscayyul, & a=IT 321 IaemRun @I FRIURI ulygA A f[ort caazen (ifést) @ sifafsm Rramfea v s aden ? o= a6
IR bl A A <31 b w=E S ADen, v VMl Refer Bril sgeizre el ecfl 8l 21 v ¥l Rafer Bridl agizae el sila &l ? Fute »u
A si¥dl, RGN, delol sBeRl 3R grararsil ardl JAHdf2a Jei uR famrT frauvr 3 @mud »u A Al &1 sk

The post-industrial society and economic restructuring have contributed for
IR - 3iENBe e iR snffes Yoriaen o fpard feru Arere & 8 ?

[Question ID = 3673][Question Description = S2_qSNz_PG_GP4_Q48]

1. The reconsideration of employment issue/3spIR #& W Yoifdar [Option ID = 14689]

2. Strategies aimed at social integration/mnfsre wblaur 3q cféia wehferi [Option ID = 14690]

3. Fragmentation of welfare state/@wcemurRt s @ fdzazma [Option ID = 14691]

4. Social disintegration into new deprived groups/sra dfera wjel 3t Awnfre fausat [Option ID = 14692]

Correct Answer :-
® The reconsideration of employment issue/3spIR 7 W yeifdar [Option ID = 14689]

4) Read the given passage and answer the questions that follow

Social exclusion is a multi-dimensional concept conceived to capture different aspects of social disadvantage-economic,
social, political and cultural-that exist in multiple variations across nations. Stripped to its essence, the term focuses on the
groups excluded in economic, social and cultural terms as well as on the mechanisms that work to relegate them to the
status of social outsiders. Originating mainly in the writings of French sociologists, the concept is receiving growing scholarly
attention in Western Europe. The emergence of the term, in fact, reflects an attempt to reconceptualise the changing



nature of social disadvantage in post-industrial societies in the face of major technological change and economic
restructuring. The West, for example, has been experiencing an intensifying process of social integration that is occurring
because of long-term unemployment, increasing migration and the rolling back of the welfare state. Consequently, new
vulnerable social groups have been emerging and are labelled in different ways: 'the new industrial poor’, 'immigrants’,
‘ethnic groups’, 'single parents’, among others. Interest in social exclusion has grown in relation to the growth of new social
problems in the west. Two important issues are worth considering here. First, does the concept add anything new which
cannot be provided by analysis within a more conventional framework of, say, poverty, inequality, deprivation and so on.
Second and more important, can this concept be extended beyond a European perspective to a development setting? Can it
be exported from the North to the South, from a situation where the majority are well-off to a situation where the majority
are poor? Clearly, a great deal of attention has been paid, in development analysis, to related issues such as poverty,
inequality, deprivation, entitlements and capabilities.

22 a1U srEnor @Y ug iz ofia 3w a1 yesil D3R ¢ ¢

AR afdvdR ud a3 - R sraemun 3 St Ayt Sor i fafaer wul 3 si¥awaaret snffe, A, Ismife i Arapie - apnie
oIl @ fafitcet uscysil I AAMate Dol DI RV E $AD Acd D I8 WA g; AT 9Isg, Iol APl Sil ffd, ATMSID 3z ATl wu A
i3t APl UR €A1l DIGA DT 8 1R AT 8l As 9166 ATHIRID WU A d1831 clIvll DI Jorhl R-2fer A d182 formIctol I BRI w3l ard dd U
€110l DIGA DA 3 BiA D HATSl ARAI D ol A PR 31U Igd A8 ARV Uil IR A 966 gu w4 d [ASTell DI &a16l Yra @2 Wl & 53
9rec bl Ieufer, araa 3 FF= awolidhl gcamd 3 nffe YerRizae @ dacd 3R - MENBRD A J ANRIG Bl D Joeld Fasu DI
Yol3IaeRuIl Sollol & U YRR Dl Yoldia ol 3 3erseur @ fere ufkier wmenfsres foravsa 6 v goflsya aXdl gfepzn o1 sigpsia @2 a1 3 Sit
sAferg 3 a1 3 Wilfs dal cd FIrRT Gt RAISEIE, Gl MYARTH 3R BeANIBH AT A i seal &l siftifaffril uril sir 36 2 Gazanu oY
e ARNRIG P! DI 3gd 3l T & 3R I grl @ & 3 faffiest u 3 sTe S 3; 'oa siienfre si¥la’, 'srgarfl’, 'ofsidl J31E’, v
ifterae’ uf2aEr 3 orRfl ATIID A=l @ gl @ Ader 3 A afdver 3 FRI 96 SRl 8 A8l 3l Astayvl L Fcaare] iR & 3 gua
RIT GERYN 3 oI 9nfdret aler 3 Sl fraduur gRI sk, 3RMEIIGIdl, deel scafe & S 3ifere URURPI BHA® D dad oIl Yglol s s
ADAT GIRI 312 2D Aseayyl, & a=IT 321 IaeRun @I FRURI ulRyga A f[orRt crazen (ifést) & sifdafsm Rramfea v s aden ? o= a6
IR bl A A <fdr b wRE S ADen, v WAl Rerfer Bridl sgrizere el eefl 8l 21 v ¥l Refer Bridl agizae sl sile &l ? Fute »u
3 sikdl, 3RIATGIAN, deel seRl 3R grararsil ardl JAHdf2a Jei uR famrT frauvr 3 *mue »u A Al & sk &

The scholarship on social exclusion has gone beyond
ATHIRID I¥CPR Uifsc (FpicRP) s3A® U Sl IbT 3 &

[Question ID = 3674][Question Description = S2_qSNz_PG_GP4_Q49]
1. The reach of governments/3r®r! &1 uga [Option ID = 14693]

2. The conventional thinking/uuzmera ira [Option ID = 14694]

3. The normal issues of deprivation/dden @ e #8 [Option ID = 14695]

4. Common perspectives of inclusion /3wl @ e uf¥egr [Option ID = 14696]

Correct Answer :-
e The reach of governments/3r®RI &t uga [Option ID = 14693]

5) Read the given passage and answer the questions that follow

Social exclusion is a multi-dimensional concept conceived to capture different aspects of social disadvantage-economic,
social, political and cultural-that exist in multiple variations across nations. Stripped to its essence, the term focuses on the
groups excluded in economic, social and cultural terms as well as on the mechanisms that work to relegate them to the
status of social outsiders. Originating mainly in the writings of French sociologists, the concept is receiving growing scholarly
attention in Western Europe. The emergence of the term, in fact, reflects an attempt to reconceptualise the changing
nature of social disadvantage in post-industrial societies in the face of major technological change and economic
restructuring. The West, for example, has been experiencing an intensifying process of social integration that is occurring
because of long-term unemployment, increasing migration and the rolling back of the welfare state. Consequently, new
vulnerable social groups have been emerging and are labelled in different ways: 'the new industrial poor’, 'immigrants’,
‘ethnic groups’, 'single parents’, among others. Interest in social exclusion has grown in relation to the growth of new social
problems in the west. Two important issues are worth considering here. First, does the concept add anything new which
cannot be provided by analysis within a more conventional framework of, say, poverty, inequality, deprivation and so on.
Second and more important, can this concept be extended beyond a European perspective to a development setting? Can it
be exported from the North to the South, from a situation where the majority are well-off to a situation where the majority
are poor? Clearly, a great deal of attention has been paid, in development analysis, to related issues such as poverty,
inequality, deprivation, entitlements and capabilities.

3 31T srenior o ue 3z ofid 3w a8 Yl @& 3az ¢ :

ARNRIE afdver udb ag - rRIE sraemun 3 St Ayt Sor 3 fafaer wul 3 si¥awaaret snféfe, ammfsie, Isnpife ik Airaie - apnie
DRIl @ faf¥icor uscy3il @l Adfese Dol Bl RV 3 $AD Acd D 1w Wl gu; As 915, Iol AP Sl sffp, AP iR Arpire wu A
Sfdvapd APl Uz ATl DIGA Den 3 3R AT & Az 96 ATAISID WU A d1s3t cllsll I Jorchl fFerfer A a8 forpIctol I BRI @0l drcl 6 R
€110 DIGA DA 3 BiA D HATS IR D ol A PRI 34 Igd As ARV Ul R A 96 gu U d [ISTell DI &a16l Y @2 Wl & 337
9166 I Ieufe, ardad I JIR ddoiidl doeld 3R 3> Yoriwel @ el IR - IMENRBID AATST d ARG DIl D Seeld FaBU DI



Yol3IaeRuI Jollel & U JRIRI bl Yofdfa ol & 3erseur & fere ulkin amenfores fravsa & ve goflyya aXdt gfipzn o1 sigpsa @2 a1 3 Sit
gAfee I I & ARIIfh dal cid IRI DI RISPIRL, TGAI JAYARIH AR BcANIPRI A A WS scol DI sifcafaf2ril uril S @ 8 werraeu oRl
FANET ARRID AFPST BT 3gd 3l T 3 3R A gl @ o 3 fAafdiost wu 3 6l S 3; ot siienfPre a1fle’, ‘sigarRil’, 'gfeid A3E’, 'vwa
siffirass’ ufa 3 oril ArnfSio Aazasl © giy @ Ade A Ao afdeor 3 i 96 skl 3 A8t oI Asrayul #g Hcarst fdar & gaa
TRIT AEMRUN 3 oI 9Nfdret AXar 3 Sl feadwvT gRI siéldl, 3RAATeIdl, dael sNfe @ SIA 3iferd USURPId BHA® D dad oIl Yglol b= sir

ADAl GIRI 3R 3ferp AeTayvl, b o= 321 sr@ermrvn @I PRIk uf¥geRn A [ert craven (Afcer) @ sifelye frailya b s aden ? o= a8
IR Bl aE A <31 Gt = S Aden, v Wl Refer Rrml agizsre oot acft 3 3 v ¥l Refer Rrpl agizsae et sidlq al ? Fuse U
A sIdl, 3RTHAToIAl, ool e 3R graAarsii arcl Hdfea el uR R Rreayur # I WU A &aret & sri 8

The concept of social exclusion is now
ARSI afdsdR &l MsIdd Iaenvn 3 :

[Question ID = 3675][Question Description = S2_qSNz_PG_GP4_Q50]

1. The focus theme of Europeans/zRIdkr ciisti we dfa fawrr (efter) [Option ID = 14697]

2. Anissue of developmental capability/fdrira® et @1 et [Option ID = 14698]

3. A commodity for export from the North to the South/3w= 3 gfér &t dew foria @ fére azq [Option ID = 14699]

4. Universal in character, going beyond the western hemisphere/df%a® ¥awu arefl, ufwf sitemet 3 a8 Siedt g [Option ID = 14700]

Correct Answer :-
e The focus theme of Europeans/Ridl ciell ue dfea fawrr (eflsr) [Option ID = 14697]





